## PUBLIC SCHOOL CRICKET IN 1916.

### By E. B. NOEL.

Next to military matches the chief interest in cricket last summer centred in the public schools. As in 1915 the schools adopted various procedure: some played their usual school matches, others played schools which they do not usually play in peace time, in order to make up for the lack of foreign matches.

If as a whole the schools did not have such strong opposition as in an ordinary year a great number of them met one side of exceptional strength. I mean, of course, the Artists' Rifles O.T.C. Their first eleven with D. J. Knight, A. Hartley, E. C. Kirk, G. G. Dumbleton, etc., was a tough nut indeed for any public school side, and the Schools must have appreciated thoroughly playing against such first-rate batting and bowling.

Another point that may be noticed is that the amount of Public School cricket played in the holidays was probably larger than ever before. The authorities at Lord's very wisely decided to have the Public School match early in August, and at the Oval and Leyton and elsewhere there were a number of matches in which the public schoolboys played as a side. It is a distinctly useful innovation; certainly for several years to come there is not much chance of there being half the amount of country house cricket and games of this kind in which many schoolboys used to take part. In the heyday of country house cricket in the '90's, a boy in the South of England could certainly have played cricket every week and probably every day from August 1 to September 14. Those days are gone, perhaps never to return, and the matches of the kind which were played this year will supply a much-needed want.

I cannot do more here than say a few words about the Lord's match. Mr. F. E. Lacey, as usual, went into the claims and capabilities of all the candidates with the greatest care and discrimination, and selection was no easy matter.

Of course, as always must happen, some of those who had been invited could not play: one may mention among them Waldock of Uppingham, and Pearson and Halsey of Eton, while Marlborough intimated that none of their players would be able to take part. Still, the two sides, as finally constituted, represented very fairly the

strength of Public School cricket last year. The title of the match, as before, was Lord's Schools (Eton, Harrow, Rugby, Cheltenham, and Haileybury) v. The Rest. To M. D. Lyon, of Rugby, was given the honour of captaining the Lord's Schools, and to H. Ashton, of Winchester, The Rest. Lyon had on his side two of his confrères in the very strong Rugby eleven of the year, and both all-round cricketers, in C. D. McCarthy and G. A. Rotherham. Eton were represented by W. G. Lowndes; and Harrow by their pair of bowlers, N. A. Jessopp and L. H. K. Gregson, and a promising young batsman in H. G. Patterson, son of that very great player, W. H. Patterson. Cheltenham also had three representatives in J. A. S. Jackson, captain of the eleven; G. O. Shelmerdine, a young cricketer who is useful as a bat and bowler; and C. P. Guise, a left-hand bowler. The remaining place was filled by a Haileyburian, J. V. Hughes Hallett.

On the other side Winchester with Ashton and Huband and Westminster with F. R. Oliver, captain of the school team and related on both sides to many Westminster cricketers (for his mother was a sister of H. R. and R. N. R. Blaker) and G. G. F. Greig were doubly represented. Malvern had K. S. Hamatsinhji (a nephew of the Jam Sahib) a really good boy wicket-keeper and a useful batsman; Shrewsbury were represented by H. P. Ward, bat and wicket-keeper; Bradfield by their best all-round cricketer, G. D. Fawcus, a left-hand bat and bowler; then there was P. H. Fitzgerald, Tonbridge bateman and lob bowler; G. T. S. Stevens another young and very promising all-rounder from University College School; M. O. Carter from Bedford Grammar School; and J. S. B. Gentry a left-handed bowler from Christ's Hospital. The Lord's Schools won the toss, and started the batting with Jackson and Patterson. Huband bowled Patterson with a nasty ball in his first over, but then there was a long stand between Jackson and McCarthy, and the former's batting, full of beautiful shots on the off-side, stood out, to my mind, above anything else in batting in the match; after this stand was broken up the fielding side had the best of it, and except for a stand late in the innings by J. V. Hughes-Hallett and Jessopp, which was broken up by Fitzgerald, the lob-bowler, no one did much, but the score reached 242. Captaining The Rest side is a most difficult task and, I think, Ashton was unduly criticized in some quarters for not using Fitzgerald enough. The idea of "if you have a lob bowler why not use him" so often reiterated, is a little exaggerated. Jessopp and Gregson, and more especially Jessopp, were too good for the majority of The Rest batsmen. A Lord's wicket is just the type of wicket to suit them. In the early part of The Rest's innings only Fawcus, of Bradfield, an attractive left-hand bat with plenty of strokes, and Stevens did anything worthy of note, but a fine stand for the ninth wicket by Huband and Greig saved the situation in some degree,

but The Rest finished up 61 behind. In the Lord's Schools' second innings Jackson and McCarthy again got the bulk of the runs, and there was a little brisk hitting by Lyon. The score was 182, which left The Rest 243 to get: a task which proved a great deal beyond their powers. Jessopp again bowled very well, and a bad start was never retrieved, the chief feature being another good innings by Fawcus. The whole side were out for 133, the Lord's Schools thus winning comfortably by over 100 runs. Jessopp's bowling was, I think, generally considered the most striking thing of the match; he got eight wickets in the two innings for 73 runs. The Rest batsmen largely failed to cope with him-on both sides several of the batsmen failed in both innings, so that one had no real chance of seeing their form. But Jackson's innings was, to my mind, the best played and he struck one as a batsman of great promise. A noticeable feature was the number of players who are both batsmen and bowlers-Jackson, McCarthy, Shelmerdine, Carter, Fawcus, Oliver, Stephens. Of the several slow and medium left-handed bowlers, Gentry appeared to give the most trouble. The wicket-keeping of Lyon and Hamatsinhji was very good, both undoubtedly being first-rate boy wicketkeepers. The fielding was, I think, a little disappointing, for in such a game one ought to see the most perfect fielding, but there were some brilliant bits of work done, and the two Wykehamists were exceptionally good, Ashton's catch in the deep field being the catch of the match.

With so many schools playing each other who had not done so before or not for a long time, a list of results would be bewildering and uninformative: especially as it must be remembered that in some cases the schools playing away from home had, perhaps, a long journey by train or motor on the morning of a match and then had to begin cricket straight away, and so were decidedly handicapped.

But it must be recorded that Eton, Winchester, and Harrow met for the first time since 1854—the year when the Winchester matches at Lord's were given up.

Harrow played Winchester on New Field, Winchester; Winchester played Eton on Agar's Plough; and Eton played Harrow once on Agar's Plough and once on Sixth Form Ground. All were one-day matches; and all had a definite result. Harrow beat Winchester, Winchester beat Eton and Eton twice beat Harrow; a curious series of results in all conscience, but not without precedent, for in the '30's the same thing happened, in that each school lost and won a match, and all the victories were gained by an innings.

All the four matches were games of low scores, where the bowlers had the best of matters. Winchester v Harrow was played on a wicket which was not difficult. Winchester got Harrow out quite cheaply, but then failed badly themselves, and were beaten by about 50 runs. Jessopp's bowling in this innings was clearly too good for them. He had the help of a strong wind blowing almost straight down the ground, and he was coming off the pitch really fast. With Gregson bowling at the other end, Winchester got no rest. Jessopp had a wonderful analysis.

It was chiefly by good bowling that Winchester beat Eton on Agar's Plough. Winchester won the toss, put Eton in, and got them out for 79, Huband, Clay, and Bingham all bowling well, and then, batting when the wicket was a little easier, Winchester made the runs by slow but sound cricket, Ashton and Bankier making a valuable stand for the third wicket. Eton in their second innings made 244 for seven, the wicket now being much easier. Halsey hit very well for 86.

Eton twice beat Harrow; in the first match on Sixth Form Ground, played on one of the few real summer days, but after a time of wet weather, the wicket was slow and never difficult. Harrow batted first, and made 112, and Eton 200, Pearson, Lowndes, Roe, and Wilson, Nos. 4, 5, 6, and 7, being responsible for most of the runs. The outfield was considerably faster when Eton were batting, and they thus had some advantage. Also the wicket was not of the kind to suit the two Harrow bowlers, for both of them want a bit of "flip" in the pitch, and there was none of this whatever. The return match at Eton was a much closer struggle—Eton eventually getting the 124 runs required to win for the loss of seven wickets.

One rather curious incident, or set of incidents, in the Eton and Winchester match may be mentioned. G. Akroyd, who batted first for Eton, was twice out for the same score, one, in precisely the same way in both innings. Bingham, who is an in-swerve bowler delivered the same kind of ball each time; Akroyd each time hit it quite well to leg, where both times he was caught by Johnstone.

So much then for the matches of the three schools. None of the sides was in any way remarkable, and it would be hard to say which was the strongest or weakest of the three. There was probably not much between them. But it is fairly safe to say that Harrow in Jessopp and Gregson had two of the most prominent cricketers, and without doubt the best pair of school bowlers of the year. It is also safe to say that in batting Harrow were a good deal the weakest, for after H. G. Patterson, who is a sound

player and a most useful man to go in first, G. M. Butler, a son of another famous Harrow cricketer E. M. Butler, and the two bowlers, who are determined if not finished batsmen, the batting was lamentably weak. The two bowlers were a foil to each other in that Jessopp is left-handed and Gregson right. But both were on the fast side of medium. Jessopp is a bowler of whom a good deal may be expected in the future. He is not a tall man, but he is strong and stoutly built, and he can keep up his pace and fire for a considerable time. He has a nice action and though not really fast through the air he comes very quickly off the pitch. He has, too, the left-hander's swerve, and he bowls a deadly yorker. The following account of the Harrow season and of the performances of the two bowlers has kindly been sent me by one who saw as much of their cricket as anyone.

Harrow played seven matches, of which the match with R.M.A. Woolwich was spoilt by rain. They beat a good side brought down by Lord Francis Scott, Sandhurst, Charterhouse, and Winchester, but lost both matches with Eton, and on both occasions Eton won the toss and put Harrow in. It was very pleasant to see the old fixture with Winchester revived, and to see the first Charterhouse side that has appeared at Harrow. The scores of all the matches show that Harrow possessed two fine bowlers in the captain, L. H. K. Gregson, and N. A. Jessopp, but were very weak and unreliable in batting. Both bowlers did very fine work against Lord Francis Scott's XI, and while Gregson's performance of getting eight wickets for 23 against Charterhouse was a grand one, it was eclipsed by Jessopp's achievement against Winchester. Here, with a high wind to help him and his natural swerve, he did one of the finest performances ever seen in a school match: had all batsmen alike in difficulties, bowled unchanged throughout, sent down only two or three loose balls-these luckily were not hit-and had the extraordinary analysis of 19.1 overs, 12 maidens, 12 runs, 9 wickets. Against Charterhouse and Winchester the batting was feeble, and prepared onlookers for the poor show made with the bat against Eton. G. M. Butler, next season's captain, played well for 104 against Sandhurst, and 33 against Charterhouse. H. G. Patterson played well against Lord Francis Scott's XI and Sandhurst and Winchester, and E. O. Bleachley did well in the second match with Eton with two innings of 42 each. Jessopp might have been dangerous, but invariably chose the wrong one to hit. The fielding was keen and smart, and J. T. Frericks was very good in this respect.

Eton in cricket have for so long been on the crest of the wave that it was only to be expected that there must be some falling off, and though they were this year not to be compared with many of the sides that have preceded them, they were by no means in the hollow. But they were not more than a fair average school side. They had again no slow bowlers of great merit—it is curious that they have had none of late years—and though in Pearson, the captain, two young bowlers in Hill Wood and Gibson, and others there was no great lack, yet there was nothing really formidable. Pearson, Halsey, Lowndes, and Roe were all useful school batsmen.

Bowling was Winchester's strong point, and in Huband, Clay and Bingham they had three school bowlers up to the average. Huband is a cricketer whom any captain must like on his side. Full of determination and keenness he makes the best of his abilities; no day is too hot and no hours too long for him to play cricket. As a bowler he is medium pace and makes the ball swerve at the start of an innings, but he does not sacrifice length for the swerve, and he will keep pegging away most determinedly, and never minds being hit. He is by no means a finished batsman, but he has a fine eye, and can hit hard, and several times going in late he pulled the side out of a hole by his hitting; and he is a splendid field in almost any position. Bingham bowls in-swingers, and Clay leg-breaks of more than average merit. Potentially Ashton is the best batsman on the side; he is very quick on his feet and has sufficient scoring strokes, but he was apt to get himself out by a bad shot and throw his wicket away needlessly, just when he looked likely to play a big innings. He, too, is a really good field. The soundest bat on the side was Bankier, who played several very good innings. As a fielding side on the whole Winchester were hard triers, but were not, perhaps, quite up to the high standard that Wykehamists set for themselves.

I think Rugby may certainly claim to be the side of the year. Admirably captained by Lyon they won eight out of nine matchesa fine record for a school team—their only defeat being from the all-conquering Artists. They won three school matches-Marlborough after a wonderfully exciting match; Malvern by four wickets; and Clifton, who were weak, by an innings and 220 runs. Lyon perhaps sometimes goes for the bowling a shade too early, but he is a powerful and attractive bat. Of his wicketkeeping I have already spoken. F. R. Kittermaster, a sound steady batsman, heads the averages with 338 runs and an average of 48.18. He scores slowly, but he saved the side on several occasions at critical points. C. D. McCarthy got most runs, 473, with an average of 39.41. He is a most promising bat with patience and good judgment, a good field and bowls useful leg-breaks. G. A. Rotherham, average 31.00 and twenty-seven wickets for 18 was the all-rounder. He is a bat with many strokes and a medium right hand bowler with plenty of variety. In E. J. D. O. Inglis (47

wickets for 14.47) the side possessed a leg-break bowler of more than average merit. He can bowl a googly, and next season might be really good.

A few words must be said of the Rugby and Marlborough match. It was played at Marlborough, and is described as "one of the best school matches ever played. Both sides succeeded in getting themselves into desperate straits, and both sides showed that they could get themselves out again." In the end Rugby won a truly remarkable game by eight runs. Nearly 1,300 runs were scored; and no innings was under 250-scoring which a few years back would have been thought quite phenomenal for schoolboys. Rugby won the toss and, helped by a stand of 93 for the eighth wicket by Wright and Kittermaster, made 268-Wright going in ninth got 94. Marlborough's first innings is described as all head and tail and no middle. 150 for one wicket was up, but six were down for 166; Marlborough like Rugby had a great eighth wicket stand of 88, and in the end Marlborough led on the first innings by 61. They got one Rugby wicket that night for 49. Next morning Rugby, with three for 76 and the bowlers obviously having the upper hand, looked a beaten side; but determination, and it must be admitted some luck, came to their aid. A sixth wicket partnership added 164; the two heroes of this being Patterson, who got 96, and Kittermaster, not out 110. Marlborough were left with 296 to win. Ashfield batted finely for 129, and a very good start at one time gave promise that Marlborough would win. McCarthy's leg breaks changed the situation in favour of Rugby. Then the match veered round once again in favour of Marlborough, and with 260 for six they were in the better position. The seventh wicket fell at 262, the eighth at 283, and the ninth at 287. "Imagine," says the Marlburian, "two small boys out there, last men in, nine runs to get at the end of a two whole days' swaying struggle, trying to stave off defeat for a side that a quarter of an hour before seemed to be winning comfortably." They withstood the attack pluckily for several overs, but then Elmhirst was bowled by McCarthy, and this wonderful game ended after so many changes of fortune in a win for Rugby by eight runs. So remarkable was the game indeed that I make no apology for referring to it at such length.

Like their opponents Marlborough were also a strong side. Ashfield and Paul, the captain, both all-rounders; Jordan

and Cornwall as batsmen; Waldegrave wicket-keeper, and left-hand bat who can hit very hard; and J. Elmhirst a slow bowler of great promise, were the nucleus of a school side above the average.

Another good eleven were Repton, who won five matches out of eight, and were never beaten. In school matches they beat Uppingham and drew with Malvern and Shrewsbury. They were, so I am told, and my informant is by no means one who is liable to regard geese as swans, that the Repton team was the best since 1908. This is high praise indeed, for that was a wonderful schoolboy side when H. S. Altham, R. Sale, A. T. Sharp, and Greswell all played first-class cricket in August, and I. P. F. Campbell was also asked to play for Surrey. In batting, my informant says, I think the side of 1916 was very nearly as good as that of 1908, and the only thing wanting was a bowler of the Greswell class, not that the bowling was by any means weak. The outstanding batsmen of a side who could nearly all play were: H. M. Morris, P. S. Bower, and A. J. C. Hirst. Their averages were remarkable: Bower, 8 innings, 350 runs, average 58.33; Morris, 8 innings, 398 runs, average 49.75; Hirst, 8 innings, 346 runs, average 43.25. R. L. Holdsworth also averaged over 40, A. J. Holmes 31, and W. O. Gairdner 28. Nevill, Abrahall, Morris, and Bower were useful bowlers, and B. O. Byass is a cricketer of promise.

Malvern were a young and inexperienced eleven, but there was a good deal of talent and if they had had more matches they might have shown themselves a good side. They played five school matches, of which that against Rugby—finished in heavy rain when the conditions were hardly fit for cricket--was lost by four wickets; Shrewsbury also beat them; Repton was a draw, and Cheltenham an easy win for Malvern at Malvern, and a draw at Cheltenham. In K. S. Hamatsinhji, Malvern had a wicket-keep much above the average, when his hands are sound, and two useful left-hand bowlers in Molran (fast) and Franks (very slow) They were a foil to each other, and did most of the bowling. The most promising cricketer on the side is Partridge, who is only 15 years old, but has all the strokes and should become, if he trains on, really good. Gordon, Honey, Hamatsinhji, and Sothern were also above the average of school batsmen.

Westminster had a fairly good side as was shown by its victories over the M.C.C. and the Artists. In the former match Westminster

scored 330 and dismissed their opponents for 138, and in the latter they won by a margin of 60 runs. In school matches they were not so successful: defeating Radley, but losing to Charterhouse twice; and Tonbridge, though the Charterhouse match at Vincent Square resulted in a very close finish. F. R. Oliver was the mainstay of the bowling, and also batted very well throughout the year. He was a good and energetic captain. N. P. Andrews, as last year, was top of the averages, and was the best batsman on the side—he will be captain in 1917. G. G. F. Greig was a useful all-rounder, though he did not come up to expectations as a bowler.

From Cheltenham I hear that they had a fairly successful season. They were beaten by Malvern at Malvern, drew with Malvern at home, the match being entirely spoiled by rain; and they drew with Marlborough after the latter had made 430; and beat Clifton. The bowling was a little lacking in variety, and most of the run-getting had to be done by the old colours, Shelmerdine and P. B. Sanger, who is a powerful batsman, both averaging over 40.

Tonbridge had quite a good season, and with six of the side left for next season, and among them Fitzgerald, who will be captain, they ought to be strong. This year Hedges, who was most consistent, and Evans, were in addition to Fitzgerald the best batsmen of the side, and there was a good deal of bowling, though none of it very formidable.

Wellingborough had a very fair side, though not nearly so strong as during the last few years. They played eleven matches, winning five, drawing four, and losing two. Colman, Badham, and Humphery were quite good bats, and the former played well during the holiday school matches at the Oval, in most of which he captained the School's side. Badham was the best "all-rounder" being a good left-handed bowler in addition to being a stylish bat. The bowling was quite up to the usual school standard, with Badham, Childs, and Robinson, the best. The fielding was fairly good throughout the season (with less practice than usual owing to O.T.C. work). There is plenty of talent lower down in the School for future elevens.

Another of the batsmen of the year was A. F. Bickmore of Clifton. He is only 17, and most promising, with exceptionally good back play for a boy; he has a power of playing back on very

fast wickets, but possibly in one respect this is his weakness, for he never uses forward play purely as defence. He has a fine drive and plenty of strokes.

Of Charterhouse I have no information, I am sorry to say, but I have heard that in Cawston and Cooke they had two promising cricketers.

Among other school cricketers of the year were J. Cartwright of *Felsted*, who got 443 runs, averaging 40.2, and took thirty-nine wickets for 13.13 apiece; Wyatt Smith of *Sherborne*; S. G. Hannen of *Radley*, a useful all-rounder; F. A. Waldock of *Uppingham*, the mainstay of the eleven, who was certainly worth a place in the best Public School side of the year, Bourdillon of Brighton, and Malden, the Haileybury captain, who is a batsman of much promise.

## PUBLIC SCHOOL MATCHES IN 1916.

MERCHANT TAYLORS' SC	HOOL v. FOREST SCHOOL.
	May 20Merchant Taylors won by
41 runs. Forest	SCHOOL.
L. C. A. Leife c and b Bryant 19 A. M. Taylor b Bryant 2 H. P. Waugh c Mars b Chester 13	H. S. Mather c Dowdell b Chester E. P. Troughton c and b Chester. I. J. P. Keen b Bryant

H. P. Wangh c Mars b Chester       13         M. Rajson c and b Chester       2         W. S. Wasey b Chester       0         A. G. Dyer run out       2         A. G. Jacobs c Dowdelll b Greer       9	I. J. P. Keen b Bryant
MERCHANT T	AYLORS' SCHOOL.
E. H. Dowdell b Dyer	H. L. Greer not out

### HAILEYBURY COLLEGE v. DULWICH COLLEGE.

Played at HAILEYBURY, Saturday, May 20.—Haileybury, with five wickets in hand, won by 48 runs.

### DULWICH COLLEGE. N. L. Pisani b Miles .......... 2 J. H. Humphreyes c and b Gold-A. C. Sanderson b Goldman ... 2 H. A. Newnham c Malden b Goldman ..... 3 J. J. Muller c McVittie b Goldman 3 L. W. Franklin b Goldman 17 F. H. Hudson b Miles . . . . . . . 6 C. E. Cat c Seabrook b Goldman 7 Byes, etc. . . . . . . . . 21

### HAILEVBURY COLLEGE.

KING'S COLLEGE SUHOOL V.	MERCHANT TAYLORS' SCHOOL.
Played at WIMBLEDON, Saturday,	May. 27.—Merchant Taylors won by
nine wickets	
E. H. Dowdell c Owen b Dowman	5 — not out 1
E. H. DOWGER C OWER D DOWMAN	0
R. R. F. Gill c Owen b Woodman	1
C. Brampton c Dowman b Woodman C. C. Barrett b Woodman	
N. H. Saint c Freeman b Woodman	
J. R. Illingworth c Rham b Woodman	80
J. R. Hingworth C Kham b woodman.	7
H. L. Greer b Dowman E. H. Smith not out	
D C Cmith h Woodman	
R. H. V. Chester c Peers b Dowman G. R. F. Bryant b Dowman	0 - lbw. b Stange 1
C D F Pront b Downer	17 - not out 1
Dros oto	10 Byes, etc 4
Dyes, coc	
The second of th	181
King's Colle	
F. O. T. Stange c Gill b Chester	0 — c and b Saint
C. H. Sivers c and b Chester	0 — lbw. b Chester 9
U. A. Sivers C and D Onester	0 — c and b Saint
H. G. Freeman b Saint	22 - c Illingworth b Chester 5
R. L. Collier b Greer	0 - c Dowdell b Saint 0
I B Woodman c Brampton b Chester	
J. B. Woodman c Brampton b Chester R. B. Marsland c Gill b Bryant	18 — b Chester 14
A. F. Peers b Bryant	4 not out 0
D. A. Owen b Bryant	5 — b Chester 5
R. C. Rham not out	3 — c Gill b Chester 0
J. F. Barge b Chester	0 - c Cove-Smith b Chester 5
Byes, etc	13 Byes, etc 7
	15 Dycs, out
The state of the s	
The state of the s	102 81
The state of the s	
The state of the s	102 81
RRIGHTON COLLEGE V.	DULWICH COLLEGE.
BRIGHTON COLLEGE v. Played at Brighton, Saturday, 1	102 81  DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.
BRIGHTON COLLEGE v.  Played at Brighton, Saturday, I BRIGHTON	DULWICH COLLEGE. May 27.—Brighton won by 148 runs. COLLEGE.
BRIGHTON COLLEGE v.  Played at Brighton, Saturday, 1  BRIGHTON  V. E. Bourdillon lbw. b Franklin 98	DULWICH COLLEGE. May 27.—Brighton won by 148 runs. COLLEGE. H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I  BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A E. H. Macann lbw, b Backman 11	DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I.  BRIGHTON V. E. Bourdillon lbw, b Franklin 98 A. E. H. Macann lbw, b Backman 11 A. E. Browke, b Hudson 21	DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I.  BRIGHTON  V. E. Bourdillon lbw, b Franklin. 98  A. E. H. Macann lbw, b Backman 11  A. E. Brooke b Hudson 21  C. W. H. Gill c Backman b Costa 11	DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, D.  BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. B. H. Baven lbw, b Costa 10	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I.  BRIGHTON  V. E. Bourdillon lbw, b Franklin. 98  A. E. H. Macann lbw, b Backman 11  A. E. Brooke b Hudson 21  C. W. H. Gill c Backman b Costa 11	DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, D.  BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. B. H. Baven lbw, b Costa 10	DULWICH COLLEGE,   May 27.—Brighton won by 148 runs,   COLLEGE,   H. Lingard b Backman
BRIGHTON COLLEGE v. Played at BRIGHTON, Saturday, D. BRIGHTON, Saturday, D. BRIGHTON, Starry, D. V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0	102 81  DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman 8 A. R. Spurgin b Hudson 12 P. W. Rose st Cat b Hudson 34 C. H. J. Deighton b Franklin 2 F. M. E. D. Briscoe not out 2  Byes, etc. 19
BRIGHTON COLLEGE v. Played at BRIGHTON, Saturday, M. BRIGHTON, Saturday, M. E. Bourdillon lbw, b Franklin. 98 A. E. H. Maeann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0 DULWICH	## DULWICH COLLEGE.  ### Aug. 27.—Brighton won by 148 runs.  ### COLLEGE.  ### H. Lingard b Backman
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0 DULWICH N. L. Pisani b Briscoe	DULWICH COLLEGE.   May 27.—Brighton won by 148 runs.   COLLEGE.   H. Lingard b Backman   8 A. R. Spurgin b Hudson   12 P. W. Rose st Cat b Hudson   34 C. H. J. Deighton b Franklin   2 F. M. E. D. Briscoe not out   2 Byes, etc.   19   213   COLLEGE.   9 — b Bourdillon   0
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0 DULWICH N. L. Pisani b Briscoe	DULWICH COLLEGE.   May 27.—Brighton won by 148 runs.   COLLEGE.   H. Lingard b Backman   8 A. R. Spurgin b Hudson   12 P. W. Rose st Cat b Hudson   34 C. H. J. Deighton b Franklin   2 F. M. E. D. Briscoe not out   2 Byes, etc.   19   213   COLLEGE.   9 — b Bourdillon   0
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, J.  BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe	DULWICH COLLEGE.   May 27.—Brighton won by 148 runs.   COLLEGE.   H. Lingard b Backman   12   P. W. Rose st Cat b Hudson   12   P. W. Rose st Cat b Hudson   34   C. H. J. Deighton b Frauklin   2   F. M. E. D. Briscoe not out   2   Byes, etc.   19   218   COLLEGE.   9 — b Bourdillon   0   6 — run out   17   14 — not out   8   8   18   17   18   17   18   17   18   17   18   17   18   17   18   17   18   17   18   17   18   17   18   17   18   18
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, BRIGHTON, V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Maeann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, J. BRIGHTON V. E. Bourdillon lbw, b Franklin 98 A. E. H. Maeann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe J. H. Humphreys run out L. G. Costa c and b Bourdillon J. J. Mulier b Briscoe L. W Franklin b Briscoe E. H. Hudaun st Macann b Briscoe F. H. Hudaun st Macann b Briscoe	102 81  DULWICH COLLEGE.  May 27.—Brighton won by 148 runs.  COLLEGE.  H. Lingard b Backman 8 A. R. Spurgin b Hudson 12 P. W. Rose st Cat b Hudson 34 C. H. J. Deighton b Franklin 2 F. M. E. D. Briscoe not out 2 Byes, etc. 19  COLLEGE. 9 — b Bourdillon 0 6 — run out 17 14 — not out 8 2 — not out 8 2 — ot out 0 0
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, In BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, J.  BRIGHTON V. E. Bourdillon lbw, b Franklin. 98 A. E. H. Macann lbw, b Backman 11 A. E. Brooke b Hudson	DULWICH COLLEGE.   May 27.—Brighton won by 148 runs.   COLLEGE.   H. Lingard b Backman   8   A. R. Spurgin b Hudson   12   P. W. Rose at Cat b Hudson   34   C. H. J. Deighton b Frauklin   22   F. M. E. D. Briscoe not out   2   Byes, etc.   19   218   COLLEGE.   9 — b Bourdillon   0   6 — run out   17   14 — not out   8   2 — not out   0   0   0   0   0   0   0   0   0
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, In BRIGHTON, Saturday, In BRIGHTON, Saturday, In BRIGHTON, Saturday, In BRIGHTON, State of State	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I.  BRIGHTON, Saturday, I.  BRIGHTON, Staturday, I.  BRIGHTON, Staturd	DULWICH COLLEGE.   May 27.—Brighton won by 148 runs.   COLLEGE.   H. Lingard b Backman   8   A. R. Spurgin b Hudson   12   P. W. Rose at Cat b Hudson   34   C. H. J. Deighton b Franklin   2   F. M. E. D. Briscoe not out   2   Byes, etc.   19   COLLEGE.   9 — b Bourdillon   0   6 — run out   17   14 — not out   8   2 — not out   0   0   2   1   0   0   13   4   4     13   4   14   14   15   15   15   15   15
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, J.  BRIGHTON V. E. Bourdillon lbw, b Franklin 98 A. E. H. Maeann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe J. H. Humphreys run out. L. G. Costa c and b Bourdillon J. J. Mulier b Briscoe. L. W Franklin b Briscoe. L. W Franklin b Briscoe. F. H. Hudson st Macann b Briscoe. A. C. Sanderson run out H. Hicks c Gill b Briscoe. C. E. Cat not out. D. E Abercronbie b Bourdillon.	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, I.  BRIGHTON, S.  A. E. H. Meann Ibw, b Backman 11  A. E. Brooke b Hudson	DULWICH COLLEGE.   S1
BRIGHTON COLLEGE v.  Played at BRIGHTON, Saturday, J.  BRIGHTON V. E. Bourdillon lbw, b Franklin 98 A. E. H. Maeann lbw, b Backman 11 A. E. Brooke b Hudson 21 C. W. H. Gill c Backman b Costa 11 F. R. H. Beven lbw, b Costa 0 F. G. White b Humphreys 0  DULWICH N. L. Pisani b Briscoe J. H. Humphreys run out. L. G. Costa c and b Bourdillon J. J. Mulier b Briscoe. L. W Franklin b Briscoe. L. W Franklin b Briscoe. F. H. Hudson st Macann b Briscoe. A. C. Sanderson run out H. Hicks c Gill b Briscoe. C. E. Cat not out. D. E Abercronbie b Bourdillon.	DULWICH COLLEGE.   S1

\*443

Byes, etc. . . . . . . . . 27

Byes, etc. . . . . . . . . . . . 7

90

#### ST. PAUL'S SCHOOL v. BEDFORD GRAMMAR SCHOOL. WELLINGTON COLLEGE v. MARLBOROUGH COLLEGE. Played at WEST KENSINGTON, Saturday, May 27 .- St. Paul's, declaring with five wickets down, won by 94 runs. Played at WELLINGTON (COLLEGE), Friday and Saturday, June 2 and 3,-BEDFORD SCHOOL. Drawn. M. O. Carter c B. G. Atkinson b Sharp . . 42 MARLBOROUGH COLLEGE. A. B. H. Dyer c Rutter b Solomon .... 10 L. A. Ashfield c Crofton b Collins. . 47 D. G. O'Shea b Collins ...... 1 K. W. A. Symons b Solomon ...... 0 - c Solomon b Martin ..... 17 E. K. M. Paul c Goodenough b Lees 143 J. N. Gresham not out ...... 13 E. H. P Greaves b Solomon...... 0 - not out ...... 42 A. E. C. Cornwall c Whitworth b H. B. Watson not out ...... 12 E. L. Chaplin c Cockman b N. S. Atkinson 18 Clery......112 H. G. B. Jordan st Birkmyre b Wallis 7 Brereton ibw. b Solomon..... 5 B. A. T. Maciarland c and b Solomon .. 27 G. S. Butler b Crofton...... 15 H. H. Robinson c Clery b Collins. . 7 A. F. Allington did not bat. E. J. Waldegrave c Dobbs b Jacobs 59 Cumming b Sharp..... 2 — c and b Rutter ...... 1 WELLINGTON COLLEGE. J. A. E. Hirst c Paul b Watson...... 54 — c Waldegrave b Gresham .. 21 N. C. Dobbs b Gresham ...... 91 — c Butler b Watson ..... 5 H. Birkmyre b Gresham...... 22 — b Watson ...... 6 ST. PAUL'S SCHOOL. J. N. Whitworth b Gresham 6 — c Cornwall b Watson 41 P. A. A. Clery c and b Paul 1 — lbw, b Paul 9 E. I. G. Jacobs lbw, b Watson 27 — c Cornwall b Paul 75 C. J. Sharp c Greaves b Symons.. 0 D. B. Martin C. H. Pearson b Davies ...... 45 W. L. N. Jackson B. Guy B. G. W. Atkinson H. J. Cockman did not bat. H. C. Solomon b Brereton ..... 50 T. G. Wallis lbw, b Gresham...... 0 — not out ............... 19 N. S. M. Atkinson lbw, b Davies. 23 L. H. C. Rutter c Macfarland b Carter ..... 78 R. G. Lees b Allington...... 12 — not out ...... 0 A. D. Whitehorn not out...... 31 W. M. Goodenough c and b Paul..... 17 — lbw, b Gresham ...... Byes, etc. . . . . . . . . 27 WINCHESTER COLLEGE v. BRADFIELD COLLEGE. Played at WINCHESTER, Thursday, June 1.—Winchester, declaring with five men out, won by 83 runs. BRIGHTON COLLEGE V. CHRIST'S HOSPITAL. BRADFIELD COLLEGE. Played at BRIGHTON, Saturday, June 3.—Brighton won by 70 runs C. G. Clarke b Ashton ..... 25 BRIGHTON COLLEGE. R. E. O'Brien b Huband ...... 30 L. D. Fawcus c Erskine b Clay ...... 58 V. E. Bourdillon c and b Gornall .... 14 J. G. Stevenson c and b Clay ..... 5 V. E. BOUTGHIOD C and D GOTHAIL 12 A. E. H. Macann b Gornall 5 — run out 3 A. E. Brooke lbw, b Gornall 2 — lbw, b Gornall 16 C. W H. Gill b France 36 — not out 1 W. V. Newton b Gentry 13 — c Cooper b Franklin 0 P. W. Rose c Franklin b France 25 — b France 1 The cooper b France 15 Company 15 Compan H. L. Batty-Smith b Huband...... 1 - c Erskine b Toppin ..... 0 G. Stephenson b Huband..... 0 N. K. Worters c and b Clay ...... 0 - c Huband b Toppin ..... 14 F. D. Kingston not out..... 0 F. M. E. D. Briscoe c Allen b Franklin .. 2 Byes, etc. . . . . . . . . . . . . . . . . 16 WINCHESTER COLLEGE. A. A. Bankier c Stevenson b Clarke 115 H. Ashton 142 L.W.Greenwood c Worters b Clarke 54 I. C. Clay C. W. Beatty b Fawcus ...... 19 G. D. Huband did not bat CHRIST'S HOSPITAL. J. D. Erskine J. S. Johnston not out...... 11 D. J. Inglis st Macann b Briscoe. . 4 G. H. Andrew lbw, b Briscoe .... 4 C. P. Brutton b Fawcus ...... 7 T. F. T. Toppin P. E. France c Bourdillon b Newton 0 H. F. Bingham c Worters b Fawcus 8 S. E Wilson not out ..... 0 G. K. Cooper c Bourdillon b Briscoe 10 Byes, etc. ..... 8 J. S. B. Gentry c Bevan b Briscoe 0 G. J. Clarke at Macann b Briscoe . . 0 A. R. Crease c and b Newton .... 9 H. W. Frankliu b Briscoe..... 0 \* Innings declared closed. R. C. Allen b Newton ...... 16

	T word State Lawrence as
MERCHANT TAYLORS' SCHOOL v. HIGHGATE SCHOOL.	BEDFORD GRAMMAR SCHOOL.
Played at Bellingham, Saturday, June 3.—Highgate won by 32 runs.	M. O. Carter run out
HIGHGATE SCHOOL.	A B. H. Dyer c and b Hudson 21 B. A. T. McFarland o Costa b
A. S. Pearson c Brampton b Greer 30 C. E. Jones Ibw, b Bryant 0  F. H. Plaistowe b Chester 2  H. K. Symonds run out 11	H. L. Mitchell b Packman 5   Hudson
F. H. Plaistowe b Chester 2 H. K. Symonds run out 11 A. R. Boney b Chester 15 M. W. Davies not out 12	E. L. Chaplin b Hudson 7 F. W. G Nash b Costa 22
S. J. Hoghen b Bryant 5 R. S. Withers run out 0	K. W. A. Symons b Packman. 2 St. J. B. Nitch b Costa 13
R. S. Gulland b Bryant 31 Ryes, etc 14	E. H. P Greaves c Cat b Costa 36 A. E. Peel not out 0 Byes, etc
F. W. Barnes b Smith 10	By65, 600
A. C. Tremellen run out 13	126
MERCHANT TAYLORS' SCHOOL.	
E. H. Dowdell c Pearson b Withers 16 R. E. Smith c Tremellen b Symonds 4 H. L. Greer run out	
H. L. Greer run out	CHELTENHAM COLLEGE v. ROYAL MILITARY COLLEGE,
E. H. Smith b Gulland 0 G. R. F. Bryant not out 0	SANDHURST.
R. R. F. Gill c Jones b Withers 10 Byes, etc 16	
N. H. Saint c Gulland b Symonds 13	Played at Cheltenham, Saturday, June 3.—Drawn.
J. R. Illingsworth lbw, b Withers 0	CHELTENHAM COLLEGE.
	P. B. Sanger c Capes b Lovelace 39   F. C. Chiswell c Coghill b Newcombe 3
CHARTERHOUSE SCHOOL v. WESTMINSTER SCHOOL.	W. H. Jessop c Philipps b Higgins 10 F. L. Hancock b Higgins 2  J.A.S. Jackson c Coghill b Lovelace 48 P. T. Harrison not out 36
Prayed at GODALHING, Saturday, June 3.—Charterhouse, declaring with	G. O. Shelmerdine b Lovelace 0 L. R. Day b Lovelace 4
eight wickets down for 224, won by an innings and 83 runs.	O. L. Roberts c Farwell b Lovelace 0 Byes, etc 26
WESTMINSTER SCHOOL.	I. J. Nilgous c Phillips b Lovelace 0
F. B. Oliver b Hollowell 24 — b Hollowell 0	G. N. Rodman c Capes b Lovelace 11
C. E. Stones b Hollowell	ROYAL MILITARY COLLEGE.
M. P. Andrews b Cawston	A. H. Isaac b Hancock 5   N. Newcombe c and b Harrison 0
W S Salwer lbw h Cawston 0 - at Vintcent b Beck 22	C. J. Capes b Hancock 6 Byes, etc 15
G. G. F. Greig b Cawston 0 — b Hollowell 18	N. I. Bryce-Smith c Hancock b
D A Redermacher h Hollowell 11 - C Broadway D Beck Z	Harrison
G. P. Pakenham-Walsh lbw, b Cawston 6 — c Cawston b Beck 2 L. H. Lowe c Reiss b Hollowell 0 — not out 0	R. D. Lovelace b Shelmerdine 20   C. J. Lyston
H. W. Watkins c Reiss b Hollowell 1 c Broadway b Beck 0	R. M. Phillips b Jessop 9 W. R. C. Higgins did not bat A. L. Farwell not out 40 D. J. G. Webb
W. E. Gerrish not out	N. H. Coghill lbw, b Jackson 0
B 4, 1-b 1 5 B 6, 1-b 6 12	The second secon
76	the first program of the second of the secon
	ST. EDWARD'S SCHOOL V. CITY OF LONDON SCHOOL.
CHARTERHOUSE SCHOOL.  P. R. Broadway b Watkins 14   R. G. Garth c Greig b Stones . 4	
J. B. Beck c Oliver h Stones 56 F. W. Wooldridge not out 63	Played at Oxford, Saturday, June 3.—City of London won by 56 runs.
R. S. Rucker b Oliver 0 H. W. Vintcent not out 45	CITY OF LONDON SCHOOL.
T. H. P. Beeching b Watkins 14 B 7, 1-b 1, n-b 2 10	F. C. Hawker hit wkt., b Fitt 27   F. G. Hutchinson b Moykopf 0
V. Reiss b Watkins 0 R. B. B. Cooke c Gerrish b Stones 18	K. W. Gauld b Lloyd 8 A. E. Ife b Bampfield 4
G. Cawston c Watkins b Stones 0 P. W. C. Hollowell did not bat.	R. Youngman c Phillips b Carpenter 33 W. L. Pratt not out
W. CENTROLE O WARREN D DOCUMENT	D. L. Collier b Carpenter 5 Byes, etc 3
	H. E. Kramer b Moykopf 10
DULWICH COLLEGE v. BEDFORD GRAMMAR SCHOOL.	L. E. Youngman b Lloyd 5
Played at DULWICH, Saturday, June 3.—Bedford won by 4 runs.	
DULWICH COLLEGE.	ST. EDWARD'S SCHOOL, OXFORD.
F. H. Hudson c Greaves b Carter 26   A. C. Sanderson b Symons 15	R. Bampfield c L. E. Youngman b F. L. Foulkes c Collier b Ife 0 A. T. E. Marsh b Ife 0
H. A. Newnham c Mitchell b H. L. Pisani b Davies 5 Symons	Collier
Symons	C. F. G. Lloyd c Pratt b Collier 0 R. P. R. Carpenter not out 0
D. H. Humphrevs lbw. b Peel 3 G. Packman b Symons 0	A. H. Tod c L. E. Youngman b Byes, etc 10
L. W. Franklin c Nash b Carter. 2 Byes, etc 22	Hawker
J. J. Miller c Greaves b Davies 14	C. F. Movkopf c and b Ife 4 H. A. Fitt b Collier 0
122	E. D. Mackay o Davis b Ife 8
	Total and the second se

#### TRENT COLLEGE v. DENSTONE COLLEGE. Played at TRENT, Saturday, June 3 .- Trent won by 36 runs. TRENT COLLEGE. C. H. Schindler b Bassett ..... R. E. F. Carter b Bassett ...... 16 R T. A. Rigg lbw, b Bassett .... D. F. G. Twamley lbw, h Rassett .. 1 F. R. Morton run out..... W. G. Goldsmith c Bassett h Baness 39 C. E. T. Cridland not out..... A. C. Brown c Barnes b Walker. . 37 A. C. E. West lbw, b Baness .... 3 Byes, etc. ..... A. R. Alston c Waghorn b Baness. . 19 147 S. E. Ffrench lbw. b Bassett ..... 16 DENSTONE COLLEGE. Sharp b Ffrench..... 0 Barnes c Ffrench b Rigg...... 44 Weigall not out..... 1 Baness c West b Rigg..... 22 Waghorn b Rigg..... 2 Glaisby c and b Rigg..... 3 Byes, etc. ..... 11 Fergusson c Cridland b Schindler. . 10 Anton b Ffrench..... 2 111 Walker c and b Rigg..... 6 KING'S COLLEGE SCHOOL v. UNIVERSITY COLLEGE SCHOOL. Played at WIMBLEDON, Saturday. June 3 .- University College School won by 98 runs. UNIVERSITY COLURGE SCHOOL. J. J., W. Mackie c Stange b Dowman 3 G. V. Marriott b Peers..... 24 A. B. Fletcher c Marsland b Dowman 1 8. Hirsch e Collier b Woodman.. 1 H W. Dulcken not out..... 0 G. J. Murdoch b Dowman...... 13 E. H. Jenkins c and b Dowman .. 0 G. T. S. Stevens run out...... 30 Byes, etc. . . . . . . . . . . 16 D. I. Melhado lbw, b Stange..... 8 S. C. Tchighianoff c Stange b 161 KING'S COLLEGE SCHOOL. F. O. T. Stange b Marriott.......... 18 - c Tchighianoff b Marriott.. 6 H. G. Freeman b Marriott. 0 — b Stevens 4 J. P. G. Powman b Stevens 21 — c Dulcken b Stevens 0 R. L. Collier b Stevens...... 5 — c Murdoch b Marriott..... 13 J. B. Woodman b Marriott. ...... 7 — run out ..... J. F. Peers b Marriott..... 0 — not out ..... J. F. Barge b Marriott..... C. C. P. Harrison not out..... 90 MILL HILL SCHOOL v. EPSOM COLLEGE. Played at MILL HILL, Saturday, June 3 .- Mill Hill won by 62 runs. MILL HILL SCHOOL. J. G. Anton h Heppard ..... 5 G. F. Murphy not out...... 48 M. L. Larman lbw, b Heppard .... 88 Byes, etc. ..... 9 P. A. Batty b Newsom ...... 42 G. S. Lamont b Newsom..... 0 P. E. Booth e Buck b Guilding .... 14 F. B. Sagar E. A. David H. S. Sly low, b Guilding..... 0 R. H. Dummett b Neale.... 5 did not bat. R. G. Carr

EPSOM (	College.
F. C. Blucke b Sly	F. C. Neale b Lamont
THE CHIEF COLLOS	I BYG GOTIOOT
FELSTED SCHOOL	
Played at FEISTED, Saturday, June	
FELSTED S	
L. W. Marriott b Green. 0	G. P. Walsh lbw, b Holloway 21 K. F. Davenport not out 2 P. H. Adams c Page b Holloway 0 E. F. Coe c Griffith b Green 10 Byes, etc. 240
Lev's	Sснооц.
	69 — not out
F. B. H. Anderson b Coc	7 — b Adams
wright G. H. Kenyon b Cartwright E. Foster c Cartwright b Adams J. Baxter c Marriott b Cartwright	0
T. E. A. Griffith c Cartwright b Adams K. C. Holloway not out	
Byes, etc.	2 Byes, etc 2
	133
	137
CDANIEIGH SCHOOL W	HITGIFT GRAMMAR SCHOOL.
Played at CRANLEIGH, Saturday,	June 3.—Cranleigh won by 119 runs.
CRANLEIGH	
R. N. Armfelt b Gibson       15         T. G. E. Reid b Anns       52         B. R. Knapp hit wkt., b Gibson       5         H. I. Calder b Anns       2         B. Elliott c Brown b Phillips       23         O. R. Guard lbw, b Anns       31         G. T. Skinner b Anns       30	C. S. Riccard c and b Anns. 5 S. A. Kemp b Anns. 2 H. A. Wentworth run out. 2 R. E. Satchwell not out. 2 Byes, etc. 18
WHITGIFT GRAM	
G. H. Phillips b Calder	E. G. Randall c Armfelt b Calder 0 A. J. K. Geere b Calder 3 A. Ryan c Elliott b Reid 1 W. R. Anns not out 0 Ryes, etc. 16  68

	IY v. TONBRIDGE SCHOOL.  June 3.—The Academy won by four	A G I
wickets.		A. G. H F. H. I
Tonbridge		A. R. I S. J. H
R. C. Culhane b Baines 7 A.L.Garratt c Standring b Robinson 31	D. W. Lilley c Farnham b Ormerod 37 J. H. Welldon b Standring 4	R. G.
L. P. Hedges b Baines 0	A.H.Musson cWhitehead bOrmerod 7	R. G. F. W. 1
J. C. Holmes b Standring 11	F. W. Bennett not out 5	A. C. T
C. H. Evans b Standring 27 G. D. Hale c Standring b Baines 6	Byes, etc 25	
E. W. P. Lewis b Baines 4	164	Pla
ROYAL MILITARY	ACADEMY	
C. Whitehead not out 76	W. D. Robinson not out 1	J. A. H N. C. I
F. J. Farnham b Lewis 23	Byes, etc 24	E. J. C
R. M. A. Welchman b Welldon 12 E. S. Browne b Welldon 4	166	J. N. V
D. A. T. Standring c Welldon b Hale 26	G. H. N. Todd	J. F. Co
C. B. Ormerod c Holmes b Welldon 0	M. F. T. Baines did not bat. M. H. Gibson	Maur
A. C. Shortt run out 0	M. H. Gibson	H. Birk
		A. M. I
SHREWSBURY SCHOOL		T. G. W W. M. C
time, by one wicket.	, June 7.—Shrewsbury won, just on	R. G. I
K. S. Hamatsinhji b Miles 0	E. D. Macvean c Miles b Veitch 12	
J. D. Southern b Pritchard 40	W. A. Sweet-Escott b Pritchard 0	
H. P. Gordon c Veitch b Pritchard 63	8. Williamson not out 3	E. J. I
N. E. Partridge b R. Smith 40	C. F. Morice b Pritchard 0 Byes, etc 12	W. R. I
A. W. W. Holworthy b R. Pritchard 7 W. L. T. Jenkins lbw, b Blaxland 24	Dyes, etc 12	J. V. E
M. K. Franks c and b Pritchard 5	206	J. H. F.
SHREWSBUR	Y SCHOOL,	W. J. S F. J. S
C. Herman c Holworthy b Franks 7	Maddison c Holworthy b Sweet-	A. T
B. Palitena c Morice b Macvean. 2	Escott 0	Walli
L. B. Blaxland c Jenkins b Morice 10 H. Ward c Williamson b Macvean 37	Pritchard not out	
C. Schwind c Gordon b Macvean 27	R. Smith not out 4	Pla
J. M. Veitch c Franks b Williamson 50	Byes, etc 14	
P. Miles c and b Franks 0	207	P. B.
	1	I. J. Kil
KING'S SCHOOL CANTERE	URY v. HIGHGATE SCHOOL.	N.
Played at CANTERBURY, Thursday,	June 8King's School won by 10 runs.	Pla
A. V. T. Dean b Withers	School.  1 — b Withers	F. H.
R. J. Wilby c Gulland b Withers	13 c Gulland b Tremellen 25	H. A. N
H. J. Wenban lbw, b Gulland	0 — b Hogben	L. G. C
E. P. Johnson c Plaistowe b Withers	22 — c Pearson b Gulland 9 13 — not out 7	L. W. I C. E. C
W. L. B. Palmer b Withers	20 — not out	T. H. H
W. L Gibson run out	6	A. C. Sa
W. F. G. L. Chester at Boney b Symons		N. C. Pi
R. G. Strouts c Pearson b Symons		T. C. M C. Fore
H. G. M. Leaky b Symons		G Pack
Byes, etc	3 Byes, etc 10	H
	101 88	
	101	

HIGHOATE SCROOL   C	7	
HAILEYBURY COLLEGE v. WELLINGTON COLLEGE.  Played at HAILEYBURY, Friday, Saturday, June 9, 10.—Drawn.  WELLINGTON COLLEGE.  J. A. Hirst st Fletcher b Seabrook 27 — c Hamilton b Miles  N. C. Dobbs c Malden b Seabrook 15 — not out	. 5 18	
E. J. C. Jacob run out 0 J. N. Whitworth b Goldman	5	
J. F. Collins run out	5	
H. Birkmyre b Sparks		
R. G. Lees c Miles b Hamilton 2	. 8	
Byes, etc 29 Byes, etc		
302	36	
HAILEYBURY COLLEGE.		
E. J. Dibdin c Dobbs b Lees. 31 W. R. I. Sparkes b Wallis. 57 J. V. Hughes-Hallett run out. 13 J. H. Fletcher lbw, b Collins. 8 W. J. Malden not out. 107 F. J. Seabrook b Collins. 0 A. T. Robinson c Birkmyre b Wallis b Lees. 31 L. S. P. Maurice c Collins b White worth	11 6 4 30	
CHELTENHAM COLLEGE v. MALVERN COLLEGE.  Played at CHELTENHAM, Saturday June 10.—Drawn through rain.		
CHELTENHAM COLLEGE.		
P. B. Sanger not out 78 I. J. Kilgour c Holworthy b Maurice 17 J. A. S. Jackson not out Byes, etc	13 3	
the first term of the second s	111	
SHERBORNE SCHOOL v. DULWICH COLLEGE.  Played at Sherborne, Saturday, June 10.—Dulwich won by 44 runs DULWICH COLLEGE.		
F. H. Hudson b Scott	48	
L. W. Franklin b Wheeler	1	
T. H. Humphreys lbw b Scott. 26	-	
A. C. Sanderson e Simnons b Wheeler . 0 — b Wheeler	1	
T. C. Miller b Wyatt-Smith 2 — b Windle	12	
G Packman b Wheeler 0 — b Wheeler	I	
99	65	

SHERBORNE SCHOOL.  E. J. Wheeler b. Hudson 0   Luxton st Cat b. Hudson	8	FETTES COLLEGE v. E	DINBURGH ACADEMY.
B. C. W. Windle b Costa 4 R. F. Leonard lbw, b Costa	5	Played at RAEBURN PLACE, Satur	day, June 10The Academy won by
J. D. Wyatt-Smith c Costa b Hudson11 H. R. Oldnall b Costa	5	5 runs. Fettes	COLLEGE
B. M. H. Simmonds b Hudson 0 Byes, etc	55	E. H. P. Mallinson b. Aitken	E. Rose c Marshall b McCrow. 21 E. Read lbw, b Smith. 5 C. W. G. White b McCrow. 0 T. S. Ross not out. 0
WESTMINSTER SCHOOL v. RADLEY COLLEGE.  Played at Vincent Square, Saturday, June 10.—Westminster won by 109 runs.	ру	B. M. Houston c Marshall b Aitken 4 W. G. Dean c Walker b Gregor 24 A. T. Lay c McLaren b Aitken 1	Byes, etc 5 99
RADLEY COLLEGE.  B. R. Hannen b Oliver	4 1 8 9	E. H. Walker b Houston	ACADEMY.  H. M. Gillespie lbw, b Read 0  J. M. Aitken c Rose b Conway 13  F.S. Paterson c Conway b Mallinson 41  J. W. Gregor not out 6  Byes, etc 6
M. W. Yates b Stones 8 Westminster School.	29	R. I. Marshall b Read	104
F.R.Oliver c L.G.Hannell b Garratt 32 C.E. Stones c Garratt b Baker. 4 N.P. Andrews c and b Yates. 65 M.G. Farquharson b L. G. Hannen 6 H. J. Salwey c ffolkes b Bubb. 14 G. G. F. Greig c Cancellor. 34 Byes, etc. 9  H. C. D. Davies b L. G. Hannen 7 T. M. Ker c Garratt b Cancellor. 14 W. Watkins run out. 14 W. E. Gerrish c Baker b Bubb. 19 Byes, etc. 19	13 39 9 0	MARLBOROUGH COLLEGE v. SANDH Played at Marlborough, Saturda	URST. y, June 10.—Drawn through rain.
the state of the s	38	MARLBOROUGH	
HARROW SCHOOL v. CHARTERHOUSE SCHOOL.  Played at Harrow, Saturday, June 10.—The first match ever play between these schools. Harrow won by 91 runs, Gregson taking eight wicke for 23 runs.  HARROW SCHOOL.  H. G. Patterson b Hollowell. 9 G. M. Butler c Garth b Beck. 32 N. A. Jessopp b Hollowell. 0 L. C. Rozle b Hollowell	ed ets	L. A. Ashileld b Capes	J. M. Gresham not out
N. A. Jessopp b Hollowell 0 L. C. Rozie b Hollowell	11	ROYAL MILITARY COL	
L. H. K. Gregson b Hollowell. 10 H. G. P. Woodroffe lbw, b Broadway 9 E. O. Bleackley c Beeching b Cawston	0 8	G. G. Cox-Cox c Jordan b Gresham J. B. R. Wyndham b Gresham J. Bryce-Smith not out 8 R. D. Lovelace not out 24	R. M. Phillips A. E. Farwell H. H. Isaac
J. U. Hogarth c and b Broadway 0	31	Bycs, etc 1	C. M. Sankey did not bat. C. J. Capes
CHARTERHOUSE SCHOOL.  P. R. Broadway c Jessopp b Gregson 1 R. G. L. Garth c Jessopp b Gregson 15 J. B. Beck b Jessopp		38	J. W. Harper W. R. O. Higgins
R. S. Rucker c Hogarth b Gregson 0		CHARTERHOUSE SCHOOL v.	WINCHESTER COLLEGE
J. H. Beeching b Gregson 0			June 13.—Charterhouse won by 13 runs.
N. B. B. Cooke b Jessopp		Charterhous	
V. Reiss not out	3	P. R. Broadway c Ashton b Huband 25	H. Vintcent b Huband 0
rone	11	R. G. Garth c and b Clay 8	G. Cawston b Clay 11
H. N. Vincent c Stevenson Moore b	R	J. B. Beck c Johnston b Clay 8 V. Reiss c Ashton b Bingham 10	J. W. Wooldridge not out 18 R. B. Cooke b Firth 2
Gregson 0 — not out	•	T. H. Beeching c Johnston b	P. W. Hollowell c Brutton b
Byes, etc 1		Bingham 0 R. S. Rucker c Clay b Huband 20	Ashton
40	20	And the second s	122
			122

\*162

WINCHESTER COLLEGE.	
A. A. Bankier b Hollowell. 6 L. W. Greenwood not out. 48 H. Ashton c Rucker b Hollowell 0 J. S. Johnston run out. 4 C. P. Brutton b Cawston 0 C. E. Prest run out. 0  Byes, etc. 3  J. C. Clay c and b Hollowell. 6 G. D. Huband b Cawston J. D. Firth c Garth b Cawston Byes, etc	13 6
ROYAL MILITARY ACADEMY, WOOLWICH v. ETON COLLEGE.	
Played at WOOLWICH, Wednesday, June 14.—Eton won by 188 rt Gibson taking seven wickets for 18 runs.	ıns,
ETON COLLEGE.	
G. T. O. Bridgeman lbw, b Gibson 8 Viscount Kingsborough b Baines 13 G. Akroyd b Baines 5 E. P. Stokes c Plissoneau b Gibson 5 G. W. Lowndes b Todd 32 T. E. Halsey b Baines 13 R. H. M. Drake c Todd b Robinson 19	n 7
and the second s	220
ROYAL MILITARY ACADEMY.  F. J. Farnham c Kingsborough b Gibson 6 — hit wkt., b Akroyd	19
E. S. Browne c Kingaborough b Gibson. 10 — b Kingaborough  R. M. A. Welchman b Hill-Wood 2  C. B. Ormerod b Hill-Wood 2	8
D. A. T. Standring c Stocks b Gibson. 1 C. H. N. Todd c Wilkinson b Hill-Wood 0 — not out	7
W. D. Roomson't Strugeniar b 4 c Drake b Wilson   4 c Drake b Wilson   R. Plissoneau b Glbson   2   M. F. T. Baines b Glbson   0   M. H. Gibson st Wilkinson b Glbson . 2	4
Byes, etc	3
38	41
HIGHGATE SCHOOL v. MILL HILL SCHOOL.	
Played at HIGHGATE, Wednesday, June 14.—Drawn. HIGHGATE SCHOOL.	
F. H. Plaistowe lbw, b Batty 10   H. K. Symons run out	11
A. G. Pearson c Murphy b Booth 88 C. E. Jones c Anton b Booth	
A. R. Boney lbw, b Sly 11 A. C. Tremellen not out	6
R. G. Gulland c and b Batty 21 K. G Withers b Sly	3
M. W. Davies b Sly	
R. H. Applewhaite b Sly 4	197
MILL HILL SCHOOL.	26
M. L. Larman c Gulland b Withers 0 G. F. F. Murphy c Gulland b Withers 2 P. A. Batty c Davies b Withers. 27 J. G. Anton c Hogben b Withers. 5 P. E. Booth c Boney b Gulland. 19 G. S. Lamont c Hogben b Withers 1 G. S. Lamont c Hogben b Withers 1	0 5 7 8
F. B. Sagar c Jones b Symons 10	95

### REPTON COLLEGE V. UPPINGHAM SCHOOL.

	TELION (	JOHNEGE .	. UIIIMU	нам о	0110041		
Played at ten wickets.	REPTON, T	hursday, Fr	iday, June	15, 16	.—Repton	won	bу
		REPTON	COLLEGE.				
A. J. C. Hirst c W. Gairdner b H. M. Morris P S. S. Bower R. L. Holdswo	Waldock b Van Millin b Waldock. orth c Bell b	gan	. 0 . 41 . 15 . 53				
R. H. Neville A. J. Holmes A. P. Black b B B. O. Byass b W. W. McLean	lbw, b Wald b Van Millin sell Bell lbw, b Bell.	ockgan	0 33 — not 17 — not 0				1
B. E. Abrahall	not out		. 4				
Byes, et	c		. 40				
			229				5
		UPPINGH	AM SCHOOL.				
F. A. Waldock I. Christophers A. P. F. Chapi K. P. Bell b A J. R. Gammel S. R. Gresham G. L. Chamber H. W. C. Craig W. L. Nimmo N. T. Bryan c D. F. Van Mil Byes, et	on b Bower.  man c Nevill brahall b Bower b Abrahall. s c Gairdner mile c Abrah c Neville b Neville b Mo	b Neville b Neville all b Nevill Abrahall orris	16 — c I 4 — c M 14 — c M 5 — c I 6 — c I 7 — st e 1 — c I 2 — c I 5 — noi 5 — c 0	McLean  forris b  and b B  McLean  Black b  McLean  Hirst b  Holdswort  t out  Gairdner	b Morris b Bower . Neville . ower . b Abrahall Byass . b Morris Byass . rth b Abra	hall	58 15 10 7 1 10 1 18 7 0 1 24
			80			1	152
	RADLEY C	OLLEGE v	. SHERBO	RNE 8	CHOOL.		
Played at 101 runs.	RADLEY, F			16, 17.	-Sherborn	e won	by
		SHERBORN	E SCHOOL.				
E. J. Wheeler R. M. S. Pasley J. D. Wyatt-S H. R. Oldnall R. B. Wyatt-S R. M. H. Simo R. de V. Fox: B. F. W. Leon E. L. W. Fox c T. A. R. Scott	or e Moreton by the Bub Cancellor by the Bub Mith by Bub Mos by Bubb. Mos out ard lbw, by G	Cancellor.bBubbb	31 — b 1 5 — b 1 3 — b 2 1 — not 0 — not 32 — c 3 12 — lby	L. G. H L. G. H L G. H t out t out Vickermann, b L. L. G. H	annen annen annen an b L. G. I G. Hannen	Iannen	29 3 4 12 5 31 1

152
\* Innings declared closed.

## Public School Matches. RADLEY COLLEGE.

B. R. Hannen b Wheeler 20 — b Scott	8
W. R. ffolks c R. B. Wyatt-Smith b         22         not out         0         0         b Scott         0         b Scott	
R. J. Moreton c Dreschfeld b J. D.  Wyatt-Smith	5
F. S. May c E. I. W. Fox b J. D. Wyatt- Smith 3 — b Wheeler	0
A. R. Baker st Dreschfeld b Wheeler 4 — c and b Wheeler	5 5
E. D. H. Davies c Scott b Wheeler 17 — b Scott B. D. Cancellor b J. D. Wyatt-Smith 0 — b J. D. Wyatt-Smith	9
Byes, etc Byes, etc	7
117	96

## TONBRIDGE SCHOOL v. HAILEYBURY COLLEGE.

Played at TONBRIDGE, Friday, Saturday, June 16, 17.—Halleybury won by nine wickets. Goldman, a right-hand medium pace bowler, had the remarkable record of thirteen wickets for 62 runs.

### TONBRIDGE SCHOOL.

P. H. FitzGerald b Goldman	21 — c Seabrooke b Goldman	₽
A. L. Garratt st Fletcher b Seabrooke	16 — b Goldman	0
L. P. Hedges not out	28 — lbw, b Miles 6:	1
T. B. Bruce b Seabrooke		
C. H. Evans b Goldman		3
D. W. Lilley b Goldman	0 — b Goldman	0
G. D. Hale b Goldman	0 — b Miles	3
J. H. Welldon c Fletcher b Goldman	0 — c Hamilton b Goldman	0
E. P. W. Lewis c and b Goldman	3 — not out 10	0
A. H. Musson b Goldman	0 — b Goldman	8
W Donnett h Goldman	0 - h Miles	9
Ryos etc	16 Byes, etc	5
Dyes, 600	_	-
	101	6

#### HAILEYBURY COLLEGE.

E. J. Dibdin b Welldon W. R. I. Sparks c Bruce b Musson J. V. Hughes-Hallett b Musson J. H. Fletcher c Hedges b Musson W. J. Malden b Musson F. J. Seabrooks st Bennett b FitzGerald	10 4 9 72 2	 not	OUL		 	22
A. T. Robinson c Musson b FitzGerald	0					
L. S. P. Maurico hit wkt., b FitzGerald	20					
D. S. Hamilton b Hale	13					
M. H. B. Goldman not out	5					
E. N. Miles b Hale	-0		_			
Byes, etc	24		Bye	<b>15</b> ,	 	D
	-					
	164					56

### MARLBOROUGH COLLEGE v. CHELTENHAM COLLEGE.

Played at MARLBOROUGH, Friday, Saturday, June 16, 17.-Drawn through heavy scoring, the two days' play producing 1,172 runs for the loss of twenty-six wickets. Having made 112 against Wellington and 101 against Sandhurst. Cornwall, in scoring 146, put together his third consecutive hundred in inter-school matches.

#### MARLBOROUGH COLLEGE.

L. A. Asnneid ibw, b Jackson	52 -	- c Jackson b Guise 4
E. K. M. Paul b Jackson	66 -	- c Roberts b Guise 7
A. E. C. Cornwall st Roberts b Jackson	146 -	- c Kilgour b Guise 0
H. G. B. Jordan st Roberts b Guise	39 -	- not out 70
H H. Robinson c Jessop b Shelmerdine	9 -	- b Guise 16
R. G. Farrer b Guise	6 -	- not out 89
E. J. Waldegrave c Hancock b Guise	66	St. Market and a second
D. G. O'Shea not out	28	
J. N. Gresham not out	1	
Byes, etc		Byes, etc 17
	_	100 ( 100 mm m
The state of the s	441	*203
		the state of the s

### \*Innings declared closed.

### CHELTENHAM COLLEGE

OHERIZATION O	Children.
J. A. S. Jackson b Elmhurst 13	— not out
P. B. Sanger c and b Gresham 16	— b Paul 79
G. N. Rodman b Elmhurst 3	- b Gresham
O. L. Roberts st Waldegrave b Elmhurst 32	— b Paul 1
O. J. Kilgour st Waldegrave b Gresham 15	— b Elmhurst 1
W. H. Jessop b Elmhurst	
G. O. Shelmerdine not out	- c Farrer b Paul 7
L. F. Hancock b Ashfield 22	— not out 0
P. T. Harrison st Waldegrave b Ashfield 0	
L. W. Hazlett lbw, b Paul 37	
C. P. Guise c Watson b Ashfield 23	
Byes, etc 30	Byes, etc 4
Company of the total parameters of the second secon	
332	196

### CLIFTON COLLEGE v. RUGBY SCHOOL.

Played at CLIFTON, Friday, Saturday, June 16, 17.—Rugby won by no less than an innings and 223 runs. They batted in brilliant fashion on Friday and after two hours' cricket next day had finished off the game.

#### RUGBY SCHOOL.

C. D. McCarthy c Bickmore b Gordon	F. F. Inglis c and b Freer 142 W. L. H. Pattisson b Fox 86 R. F. Wright b Gordon
	461

298	Public Scho	ol Maiches.
	CLIFTON	COLLEGE.
W. S. B. Freer	c Cave b Sydenham	14 — c and b Wright 3
17 C Diedos et I	won h E I Inglis	4 — h E. J. Inglis
J. F. Bickmore	Sawver b Sydenham	20 — b Sydenham 0
G H. T. Richard	ds run out	21 — b Sydennam 0
T D Happort of	Lyon h Rotherham	0 - b Wright 17
S. J. Ritchie b	Rotnernam	4 — h Wright 55
H. F. B. FOX D I	5. J. Inghis	10 — b Rotherham 0 0 — c Sydenham b E. J. Inglis
H & Gordon h	Rotherham	0 — c Sydenham b E. J. Inglis 7
F. W. Mathias no	ot out	5 — st Mathias b E. J. Inglis 10
H. F. Sherborne	e c Rothernam b E. J.	
Inglis		0 — not out 0 5 — h Lyon 5
J. P. Bennett b	E. J. Inglis	
Byes, etc.		6 Byes, etc
		89 149
		and the state of t
MT	DOUISTON CASTIT	v. FETTES COLLEGE.
8 5000		
Played at M	IERCHISTON, Saturday,	June 17.—Fettes won by 142 runs.
	MERCHISTON	CASTLE.
D. F. McIntosh	e and b Houston 18	B. Mackinnon b Ross 13
A. W. Bell c Ro	se b Mallinson 3	J. W. Robertson b White 0
D. M. Stewart c C	onway b Mallinson 11	D. D. Cook c and b Mallinson 6
J. McGeorge b H	ouston 1	A. J. Macnaughton not out 1
M. McLellan b	Houston 3	Byes, etc 20
R. M. Gourlay l	bw, b Ross 20	96
E. Corstorphine	b Houston 0	and the second of the second s
	FETTES	COLLEGE.
E. H. P. Mallinso	on lbw, b Mackinnon 1	E. Rose b Robertson 0
D. A. Riddell	c Macnaughton b	T. S. Ross b Corstorphine 26
Corstorphine	8	J. P. Maclay c McGeorge b Stewart 15
G. S. Conway b	Robertson 94	C. W. G. White not out 19
W. G. Dean b M	ackinnon 9	Byes, etc 13
A. 1. Davis run	out 46	238
	b Robertson 1	200
A. T. Lay run o	ut 6	
		LITARY COLLEGE, SANDHURST.
Played at H	ARROW, Saturday, June	17.—Harrow won by 101 runs. Butler
played an admi	irable innings and Jess	sopp took seven wickets for 47 runs.
	HARROW !	Всноог.
H. G. Patterson	b Capes 30	L. G. Whistler c Hawkins b Higgins 0
G. M. Butler ru	n out104	E. O. Bleakley b Capes 25
N. A. Jessopp c	Farwell b Higgins 2	L. C. Royle lbw, b Capes 0
L. H. K. Gregso	on b Newcombe 8	C. G I. Hodgson not out 14 R Peel h Capes 17
H. G. Woodroffe	lbw, b Capes 0	
H. S. Stevenson	-Moore b Capes 4	Byes, etc 27
		231
	ROYAL MILITARY COL	
P D Lovelege	Jessopp 28	J. M. Chitty not out 38
F Newcombo lb		F. O. Wood run out 6
J. B. Wyndhar	w, b Gregson 0 m c Woodroffe b	C. F. Capes b Gregson 6
Jessopp		R. Higgins b Jessopp 3
R. M. Philling c	Peel b Jessopp 16	Byes, etc 11
H. H. Isaac b J	essopp 1	The state of the s
H. E. Farwell b	Jessopp 0	130
	atterson b Jessopp 18	
A CONTRACTOR OF THE PROPERTY O		

ST. JOHN'S SCHOOL, LEATHE	RHEAD v. LANCING COLLEGE.
	, June 17Lancing, with six wickets
down, won by 218 runs.	's School.
M. S. du Pre lbw, b Tuckett 15	W. F. Rivers not out 3
A. W. Whitehead b Tuckett 4	W. F. Rivers not out 3 W. E. Tupper b Tuckett 0
A. N. Evans st Goff b Tuckett 0	E. F. Tucker b Tuckett 9
A. M. Whiteley c Cross b Tuckett 10	H. Brown b Tuckett 0
J. W. Cornwall run out 9	Byes, etc 12
S. H. Piersone b Tuckett 21	All and the second seco
J. G. Parry b Ford 2	COLLEGE 85
	COMPAGE.
B. E. C. Goff lbw, b Brown 97	F. R. F. Scott not out
E. H. Savory run out 1 W. M. Tatram b Parry 1	Буся, ем
I. M. Cross c Tucker b Parry 2	303
H. N. Thomas b Brown 55	25 00 00 00 11
L. G. Stern not out	R. E. Walker did not bat.
R. S. Thompson c Piersone b White-	J. N. C. Ford
ley 16	
UDIGUES COLLEGE	(m Division dorse of
BRIGHTON COLLEGE v	
Played at BRIGHTON, Saturday, J	une 17.—St. Paul's won by two wickets.
	COLLEGE.
V. E. Bourdillon b Whitehorn101	W. V. Newton b N. S. Atkinson. 18
A. E. H. Macann b N. S. Atkinson 0	C. H. J. Deighton b N. S. Atkinson 21
A. E. Brooke c Cockman b Solomon 35 C. W. H. Gill c Cockman b Solomon 0	
C. W. H. Gill c Cockman b Solomon 0 P. W. Rose b N. S. Atkinson 1	F. M. E. D. Briscoe not out 0
H. Lingard c Cockman b Solomon 0	Byes, etc 14
F. G. White b Solomon 35	226
ST. PAUL	The Contract of the Contract o
C. H. Pearson lbw, b Deighton 3	B. F. Guy b Drake 13
A. D. Whitehorn c Bourdillon b	B. G. W. Atkinson not out. 35
Briscoe 1	B. G. W. Atkinson not out 35 L. N. Jackson not out 2
H. C. Solomon b Bourdillon 31	Byes, etc 22
C. J. Sharp c Brooke b Drake 54	
L. H. C. Rutter b Lingard 30	231
N S.M.Atkinson c White b Deighton 36	Charles of "GVERHARISTENS" FO TOLER
D. B. Martin run out 4	H. J. Cockman did not bat.
KING'S COLLEGE SCHOO	L v. EPSOM COLLEGE.
Played at WIMBLEDON, Tuesday, .	June 20.—Epsom won by 32 runs.
EPSOM	College.
C. S. B. Swinley not out 47	G. Taylor hit wkt0
G. D. Buck b Peers 4	O. C. Ardagh b Woodman 8
F. C. Blucke c Rham b Dowman 10	R. W. L EHeppard b Peers 1
F. C. Neale b Peers 0	J. Rodgers b Marsland 6
S. C. L. Guilding lbw, b Peers 3	Byes, etc 13
A. Irving c and b Stange 11	110
A. S. Newsom c Dowman b Stange 7	110
King's Colli	
F Stange c Irving b Guilding 2	R Rham c Neale b Swinley 1
C. Harrison c Buck b Newsom 0	A. Peers c Blucke b Swinley 0
J. Dowman b Newsom 0	J. Barge b Swinley 2
R. Marsland b Guilding 1	D. Owen not out 0
R. Collier c Buck b Heppard 50	Byes, etc 16
J. Woodman run out	78
C. Sivers lbw, b Newsom 1	10

### ROSSALL SCHOOL v. SHREWSBURY SCHOOL.

Played at ROSSALL, Tuesday, June 20 .- Shrewsbury won by 246 runs.

#### SHREWSBURY SCHOOL.

C. R. Harman Ibw, b Clarke	C. Schwind not out
Rossali.	SCHOOL.
C. N. A. Clarke run out	21 — b Veitch 11
Pritchard C. W. Snook st Ward b Miles P. B. S. Wood b Blaxland J. V. T. Campbell b Blaxland R. J. B Snook not out L. J. Hearon b Blaxland V. O. Rees b Blaxland	3 0 0 0 not out 7 0
R. M. Patterson b Blaxland Byes, etc	0 12 Byes, etc 4

### ST. JOHN'S SCHOOL, LEATHERHEAD v. CRANLEIGH SCHOOL.

Played at LEATHERHEAD, Wednesday, June 21.—St. John's won by 120 runs.

76

52

### CRANLEIGH SCHOOL.

J. P. Jennings c Rivers b Brown 10 H. G. Rayment c Rivers b Perry 0 H. L. Calder c Evans b Perry 13 R. N. Armfelt b Whiteley 5 B. Elliott c Rivers b Whiteley 22 O. R. Guard c Du Pre b Brown 0 J. G. E. Reid b Perry 15	H. P. Stevens b Brown
ST JOHN	's School

#### ST. JOHN'S SCHOOL.

M. D. Du Pre b Reid	4   S. H. Millard b Satchwell 13
A. W. Whitehead b Reid	1 E. F. Tucker b Calder 41
A. N. Evans st Kemp b Calder 29	
A. M. Whiteley run out 7	
J. W. Cornwall b Calder	
S. H. Pierssene b Guard 27	7
W E. Rivers c Kemp b Reid	

### WINCHESTER COLLEGE v. WELLINGTON COLLEGE.

Played at WINCHESTER, Thursday, June 22.—Winchester won by 120 runs.

WELLINGTON	COLLEGE.
J. A. E. Hirst c Ashton b Huband N. C. Dobbs c Clay b Huband	1 1 The state of t
J. F. Collins c Ashton b Bingham	24
J. N. Whitworth c Huband b Clay	19 — b Johnston 20
H. Birkmyre c Bankier b Huband	
E. I. C. Jacob run out	0
T. G. Wallis c Clay b Huband	
P. A. A. Clery c Ashton b Huband	
W. M. Goodenough not out	
A. M. L. Crofton lbw, b Huband	Õ
R. G. Lees b Huband	(A) A) MAC 医电路 [A] 12 (A) (A) (A) (A) (A)
Byes, etc.	
	The state of the s
	119 77
WINCHESTER	COLLEGE.
A. A. Bankier c Clery b Collins 74	H. F. Bingham lbw, b Wallis 0
L. W. Greenwood b Goodenough 7	G. D. Huband c Crofton b Clery 43
H. Ashton c Collins b Whitworth 35	J. C. Clay c Whitworth b Collins 15
J. S. Johnston c and b Wallis 18	J. d'E. Firth not out 4
C. W. Beatty c Birkmyre b Collins 9	Byes, etc 21
C. P. Brutton c Jacob b Collins 5	
R. C. G. Joy lbw h Collins 8	239
	LA Burgalia Calvination

## HARROW SCHOOL v. ROYAL MILITARY ACADEMY, WOOLWICH. Played at HARROW, Saturday, June 24.—Drawn through rain.

HARRO	ож Всноог.	
H. G. Patterson b Baines	L. G. Whistler J. T. Frerichs C. G. L. Hodgson R. Peel	did not bat.
101		

### ROYAL MILITARY ACADEMY, WOOLWICH.

C Whitehead, E. S. Browne, F. J. Farnham, R. M. A. Welchman, M. H. Gibson, M. F. T. Baines, W. D. Robinson, G. H. N. Todd, D. A. T. Standring, D. Dunlop, and C. B. Ormerod.

### MALVERN COLLEGE v. CHELTENHAM COLLEGE.

Played at Malvern, Saturday, June 24.—Malvern won by 201 runs.

MALVERN COLLEGE.

K.S.Hamatsinhji c Hancock b Guise 84 T. D. Southern b Jackson 21	E. D. Macvean lbw, b Guise 0 M. K. Franks c Shelmerdine b Guise 13
A. C. Honey c Haslett b Hancock 82	W. A. Sweet-Escott st Roberts b
H. P. Gordon b Harrison 1	Jackson 14
N. E. Partridge st Roberts b Guise 6	C. F. Morice not out 21
A. W. W. Holworthy c Kilgour b	Byes, etc 18
Guise 0	
W. L. T. Jenkins c Haslett b Guisc 6	266

302 Public	School Matches.
CHELTE	NHAM COLLEGE.
P. B. Sanger b Macvean	0 L. F. Hancock b Macvean 19 L. W. Haslett st Hamatsinhji b Franks
MONDRIDGE SCHOOL	L v. WESTMINSTER SCHOOL.
	, June 21.—Tonbridge won by 29 runs.
	DGE SCHOOL.
P. H. Fitzgerald b Oliver	19   G. D. Hale b Oliver.
WESTMINS	STER SCHOOL.
C. E. Stones b Welldon	D. A. Radermaeker c Hale b   Fitzgerald   19   G. P. Pakenham-Walsh b Welldon 3 3   H. W. Watkins c Hale b Fitzgerald   4   W. E. Gerrish not out   6   Byes, etc.   23     132
	v. ALDENHAM SCHOOL. day, June 24.—Forest won by 165 runs.
	REST SCHOOL.
L. C. A. Leefe c Blake b Rose 2 A. M. Taylor c Pollit b Gibbon 3 H. P. Waugh lbw, b Rose 6 W. S. Wasey run out	H. S. Mather not out
	s declared closed.
ALDEN	HAM SCHOOL.
T. H. Bessunger run out	6     W. F. H. Scutt lbw, b. Raison     22       4     A. J. Webb c and b Dyer     23       0     A. E. P. Rose c sub. b Raison     0       4     F. K. J. Trayes not out     5       5     Byes, etc     4       9     98

### WINCHESTER COLLEGE v. MARLBOROUGH COLLEGE.

Played at Winchester, Tuesday, June 27.—A delay of half an hour between the innings enabled Marlborough to draw the match.

between the manigs enabled maribord	night to that the match.
WINCHESTER A. A. Bankler c Elmhirst b Gresham 25 L. W. Greenwood b Farrer 22 H. Ashton c Vincent Fernie b Gresham	H. F. Bingham b Elmhirst. 0 G. D. Huband not out. 39 J. C. Clay run out. 3 J. D. Firth not out 7 Byes, etc. 19 *203
MARLBORDO L. A. Ashfield c Ashton b Huband 21 E. K. M. Paul b Clay	GH COLLEGE.  D. G. O'Shea c Prest b Clay.  J. N. Gresham not out.  1 F. S. Bates b Clay.  0 J Elmhirst not out.  2 Byes, etc.  16  97
UPPINGHAM SCHOOL, v. 1  Played at UPPINGHAM Friday, Sats Waldock's batting saved Uppingham f bowling secured fourteen Halleybury innings for 20 runs.  HAILEYBURY E. J. Dibden lbw, b Waldock.  J. V. Hughes-Hallett lbw, b Waldock.	urday, June 30, July 1.—Drawn.         from collapse, and his left-handed         wickets—eight of these in the first         COLLEGE.         14 — lbw, b Bell
W. J. Malden e Bryan b Waldock. F. J. Seabrooke b Waldock. V. S. Hamilton e Bryan b Waldock. L. Maurice c and b Waldock. A. T. Robinson run out. C. C. L. Barton e Chapman b Bell M. H. B. Goldman e Chapman b Waldock E. N. Miles not out. Byes, etc.	27 — b Gresham
· · · · · · · · · · · · · · · · · · ·	77
	The accompany of part of contents of the
F. A. Waldock b Maurice. I. Christopherson b Goldman. A. P. F. Chapman b Goldman. H. F. Waldock c and b Goldman. R. P. Bell c Hamilton b Maurice. A. W. C. Craigmile c Malden b Barton J. R. Gammell b Goldman. S. R. Gresham b Goldman. W. L. Nimmo b Maurice.	OHOOL.  59 — not out
D. F. Van Milligen lbw, b Maurice	4 — not out

110

### ST. JOHN'S SCHOOL, LEATHERHEAD v. FOREST SCHOOL.

Played at	LEATHERHEAD,	Sat	urday,	July	1.—St.	John's	won	by	39	runs.	
		Qm	TOUN	a San	TOOL						

St. John	'в Всноог.
M. D. Du Pre b Waugh	E. F. Tucker b Waugh 33 J. G. Perry b Taylor 1 W. E. Rivers b Waugh 2 N. Sadgrove not out 2 H. Browne b Waugh 0 Byes, etc. 5 169
FOREST	SCHOOL.
A. M. Taylor run out	A. Polglase b Sadgrove 0 E. P. Troughton c Whitehead b Perry

### DULWICH COLLEGE v ST. PAUL'S SCHOOL.

Played at DULWICH, Saturday, July 1.—St. Paul's won by 172 runs

Played at DULWICH, Saturday, July	1.—St. Paul's won by 172 runs.
DULWICH	COLLEGE.
F. H. Hudson e Cockman b Sharp	10
	7 — not out 20
R. A. Mayne b Sharp J. J. Muller b Solomon Byes, etc.	0 2 8 Byes, etc
1:	63
ST. PAUL'S	SCHOOL.
C. H. Pearson b Muller108 A. D. Whitehorn c Cat b Packman 2	J. Farrell b Muller 2 L. N. Jackson c Mayne b Frank-
H C. Solomon st Cat b Hudson 39 C. F. Sharp c David b Costa 9 I. H. C. Rutter b Muller 8 N. S. M. Atkinson not out 50 B. G. W. Atkinson b Muller 29	Iin
D. G. W. Atkinson b Munci 25	296

### WINCHESTER COLLEGE v. HARROW SCHOOL.

Played at WINCHESTER, Saturday, July 1.—Special interest attached to this match from the fact that the schools, who first tried conclusions in 1825, and continued to meet more or less regularly for thirty years, had not played one another since 1854. A very low-scoring game ended in favour of Harrow by 46 runs. Jessopp, Harrow's fast left-handed bowler, took nine wickets for 12 runs

#### WINCHESTER COLLEGE.

A. A. Bankier c Patterson b  Jessopp 8  L. W. Greenwood b Jessopp 10  H. Ashton b Jessopp 10  J. S. Johnston c Patterson b Jessopp 1  C. W. Beatty b Jessopp 3  C. E. Prest lbw, b Gregson 3	C. P. Brutton bJessopp 0 J. Clay b Jessopp 0 G. D. Huband c Gregson b Jessopp 21 H. F. Bingham b Jessopp 2 B. Firth not out 0 Byes, etc. 10 58
HARROW	School.
H. G. Patterson run out       42         D. M. Butter c Prest b Clay       13         H. G. P. Woodroffe lbw, b Clay       10         L. H. K. Gregson st Brutton b Clay       3         N. A. Jessopp b Bingham       1         H. S. Stevenson-Moore run out       7	V. J. Hogarth c Bingham b Firth 2 C. G. L. Hodgson c Ashton b Huband 3 A. C. H. Ball c Ashton b Huband 0 L. C. Royle not out 6 B. Mews lbw, b Huband 1 Byes, etc. 16
the state of the s	104

### HARROW v. ETON.

Eton and Harrow engaged in home and home one-day matches—not counted in the regular series of contests between the two schools. The first of these encounters took place at Harrow on Tuesday, July 4, Eton winning by 88 runs. Sent in to bat as the pitch was rather slow, Harrow, although losing Butler before a run had been scored, fared quite well for a time. Patterson (who gave a chance at the wicket) and Gregson by capital cricket raised the total to 58, and afterwards Jessopp—badly missed before he had made a run—hit so hard that the score reached 96 with seven wickets in hand. At that point Pearson bowled Jessopp, and then the batting collapsed in such deplorable fashion that the last six wickets fell for 16 runs. Of these Gibson, keeping a good length, actually took five in the course of three overs for four runs. Pearson rendered his side excellent service in disposing of Patterson, Gregson, and Jessopp. Eton on going in had at first to fight very hard for runs against Gregson and Jessopp even although the ground was not fast enough to suit those two excellent bowlers, who, moreover experienced bad luck in missing the stumps after beating the batsmen. With three men out the score was only 31, but Pearson and Lowndes, the only two old "colours," showed fine form at a critical time, and after a brilliant catch had sent back Lowndes at 63, Pearson and Roe, adding 45, practically determined the result of the match. Pearson, the Eton captain, played a great game for his side. Roe batted in nice style, and Harrow's total having been passed with five wickets in hand, several of the later batsmen hit Up to a point the Harrow boys fielded admirably

freely. Op to a point the Harrow boys hented admirably.	
HARROW.	
H. G. Patterson c and b N A. Pearson. 26 — c and b W G. M. Butler b S. H. Wood. 0 — not out L. H. K. Gregson b Pearson. 27 N. A. Jessopp b Pearson. 34	7ilson 5
H. G. P. Woodroffe b Gibson 5	3
	13
V. J. Hogarth c Gibson b Kingsborough         9 — c Kingsbo           C. G. L. Hodgson b Gibson         0           R. Peel b Gibson         0	rough b Lowndes 1
J. T. Frerichs not out 4	
Byes, etc 4 Byes,	etc 9
The state of the s	
112	64

			ET						
G. Akroyd b Jesso	pp		10				Frerichs		
Lord Kingsborous	th b (	Gregson.	16	J.	Cokay	ne Fi	rth not	out	17
R. H. R. Palmer c	Patte	rson b Je	s-	H.	F. W	ilkins	on b Je	ssopp	2
80DD			4	В.			d c Hoga		
N.A. Pearson c Pat	terson	b Hodgs	on 26		B	yes, e	tc		10
W. G. Lowndes c	Fregso	n b Peel	. 23						200
W. N. Roe c Gregs	on b J	essopp	41						200
C. J. Wilson b Jess	sopp.		28					8	
			ETON B				353	Dama	Wkts.
	Overs	Mdns.	Runs	Wkts	3.	Overs	Mdns.	Runs	0
Gibson	12	4	31	5		2	1	1 2	0
Hill-Wood	12	3	41	1		2	1	19	2
Lowndes	5	3	9	0		5	2	5	1
Wilson	3	1	6	0		4	1	6	ō
Pearson	8	3	16	3			2	11	ŏ
Kingsborough	1	0	5	1		6	1	11	ő
						U	•		
	05	6 H	ARROW 86	BOWL 5	ING.				
Jessopp	25 20	2	70	1					
Gregson	6	ō	23	2					
Peel	5	3	6	2					
Hodgson	3	ő	5	õ					
Woodroffe	0	U	U	v					
Played at SE the second day ca	REWS:	an inter	uesday, uption o	Wedner School	esday, game. OOL. – b V	July Valdoo	4, 5.—I	Orawn, 1	е
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh G. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bel B. Palitana c Bry R. Smith no fout	aldock Walde Walde Walde am Walde sham l Millir lan b M	BURY, Tan inters SHRE cock cock b Bell ngen	uesday, uption (	Wedno of the School 0 - 1 - 2 - 0 - 101 - 40 - 48 - 0 - 0 - 101 -	esday, game.  OOL.  - b V.  - c C  - c C  - c a  - c G  - b I  - lbw  - not	Valdoo Valdoo Valdoo Valdoo Valdoo Hapmind b Freshan Sell , b B	ek ile b Mick an b Gr Millinge m b Wa	orawn, i	6 24 3 34 0 1 30
Played at Sr the second day ca H. Pritchard b W L. B. Blaxland b P. Miles b Gresh C. B. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bel B. Palitana c Br. R. Smith not out.	aldock Walde Walde Walde am Walde Sham I Millir li an b M	BURY, T an inter SHRE  ock ock b Bell ngen  fillingen	uesday, uption o	Wedno of the School 0 - 1 - 2 - 0 - 101 - 40 - 48 - 0 - 0 - 0 - 0 - 101	esday, game.  OOL.  b V  c b V  c c C  c c a  c c G  b I bw  lbw  not	Valdoo Valdoo Valdoo Valdoo Valdoo Hapmind b Freshan Sell , b B	4, 5.—I	orawn, i	6 24 3 34 0 1 30
Played at Sr the second day ca H. Pritchard b W. E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bel B. Palitana c Bry R. Smith not out	aldock Walde Walde Walde am Walde Sham I Millir li an b M	BURY, T an inter SHRE  ock ock b Bell ngen  fillingen	uesday, uption o	Wedno of the School 0 - 1 - 2 - 0 - 101 - 40 - 48 - 0 - 0 - 0 - 0 - 101	esday, game.  OOL.  b V  c b V  c c C  c c a  c c G  b I bw  lbw  not	Valdoo Valdoo Valdoo Valdoo Valdoo Hapmind b Freshan Sell , b B	ek ile b Mick an b Gr Millinge m b Wa	orawn, i	6 0 24 3 34 0 0 1
Played at Sr. the second day ca the second day ca H. Pritchard b W. E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b F. M. Veitch b G. Schwind b Bel B. Palitana c Bry R. Smith not out A. M. Gamble c a	aldock Walde Walde Walde am Walde Sham I Millir li an b M	BURY, T an inter SHRE Cock cock cock cock cock cock cock cock	uesday, uption ( wsbury	Wedno of the School of the Sch	esday, game.  b V  b V  c b V  c c C  c a  c G  b H  lbw  not	Valdoo Valdoo Valdoo Hapmind b Hapmind b Hapmi	4, 5.—I ck ck ck ck an b Gr Millinge m b Wa ell Valdock	Orawn, 1	
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Be B. Palitana c Bry R. Smith not out A. M. Gamble c a Byes, etc.	aldock Waldo Waldo Waldo Maldock Man Millir Il an b M	BURY, Tan interior share	uesday, uption ( wsbury	Wedno of the School of the Sch	esday, game.  b V  b V  c C C  c C C  c C C  c C C  c C C  c L  b V  c C C  c L  c C C  c L  c C C  c L  c C C  c L  c C C  c C  c	July Valdoo Vald	4, 5.—I ck ck an b Gr Millinge m b Wa valdock etc b Veitc	Drawn, 1	
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Be B. Palitana c B B. Palitana c B R. Smith not out A. M. Gamble c a Byes, etc.	aldocke Walde Walde am	BURY, Tan interest on the second of the seco	uesday, uption c wsbury	Wednot the School 1 1 2 0 101 48 0 13 217	esday, game.  b V  b V  c b V  c c C  c c C  c c C  d b V  c c a  c c G  b I  lbw  lbw  lool.	July Valdoo Vald	4, 5.—I ck ck ck an b Gr millinge m b Wa valdock etc b Veitce	Drawn, 1	6 0 24 3 34 0 1 30 1 12 37
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Be B. Palitana c B B. Palitana c B R. Smith not out A. M. Gamble c a Byes, etc.	aldocke Walde Walde am	BURY, Tan interest on the second of the seco	uesday, uption c wsbury	Wednot the School 1 1 2 0 101 48 0 13 217	esday, game.  b V  b V  c b V  c c C  c c C  c c C  d b V  c c a  c c G  b I  lbw  lbw  lool.	July Valdoo Vald	4, 5.—I ck ck ck an b Gr millinge m b Wa valdock etc b Veitce	Drawn, 1	6 0 24 3 34 0 1 30 1 12 37
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Be B. Palitana c Bry R. Smith not out A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapm K. P. Belle Blax F. Chelle Blax F. Chelle Blax F. Chelle Blax F. Belle Blax	aldock Walde Walde Walde Walde Sham I Millir I	BURY, Tan interior SHRE Cock	uesday, uption c wssury pinghal	Wednof the School of the Schoo	esday, game.  b V.  c b V.  c c C.  c c C.  c b V.  c c C.  d b V.	Valdoo Valdoo Valdoo Hapmind b Freshar Sell, b W Syes, ward Pitcha	4, 5.—I  ck	Drawn, 1 Illingen. esham . n. ldock	
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch C. Schwind b Be B. Palitana c Bry R. Smith not out A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapma K. P. Bell c Blax	aldock Waldock Waldock Waldock Millir II	BURY, Tan interrese and interrese shape occurrence occu	uesday, uption c wsbury pinghab	Wednot the School of the Schoo	esday, game. boL. b V c c C c c C c c C c b I c c C c b I c c C c	Valdoo Valdoo Valdoo Valdoo Hapmand b Freshandsell, b B Out, b W Nes, out Ward Pritchas	4, 5.—I  ck dile b Miles m b Wa  valdock etc b Veitc ard b Sr b Miles nd	Drawn, 1	
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gree J. J. M. Veitch not out A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chaput F. P. El c Blat H. F. Waldock J. Creigmil H. F. Waldock J. Creigmil H. F. Waldock J. Creigmil	aldock Waldock Waldock Waldock Maldock Millir II	BURY, Tan interior SHRE Ock	uesday, uption construction con	Wednot the School of the Schoo	esday, game. bol. b V c c c c c c c c c c c c c c c c c c	Valdoo Va	4, 5.—I ck clk lle b Mick lle b Mick Millingem b Wa valdock etc b Veitc b Miles nd	Drawn, 1 Illingen. esham n. Ildock	
Played at Shithe second day ca H. Pritchard b W. E. R. Bowring b L. B. Blaxland b P. Miles b Gresh G. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bey R. Smith not out A. M. Gamble ca Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapm K. P. Bell c Blax H. F. Waldock A. W. C. Craigmi J. R. Gammell c	aldock Waldo Waldo Waldo Sham I Millir II	BURY, Tan interest Shree Shree Cock Cock Cock Cock Cock Cock Cock Cock	uesday, uption of the control of the	Wednot the School of the Schoo	esday, game.  - b V - c C - c S - c G - c S - c G - c S - c G - c S - c	Valdoo Va	4, 5.—I  ck dile b Miles m b Wa  valdock etc b Veitc ard b Sr b Miles nd	Drawn, 1 Illingen. esham n. Ildock	
Played at Sr the second day ca H. Pritchard b W E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bel B. Palitana c Br R. Smith no tout A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapm K. P. Bell c Bla: H. F. Waldock b H. F. Waldock b U. Craigmil J. R. Gammell c W. L. Nimmo c	REWS: using  aldock Waldo Waldo Waldo Millar an b Millar an b Millar c c and an rule und und und Cest Weiter Gamb	BURY, Tan interior SHRE Ock	uesday, uption ( wssury  pinghab  land  eitch  man	Wedn.  f the  Schtc.  0 - 1 - 6 - 2 - 0 - 101 - 40 - 40 - 40 - 13 - 1217  I SCHC.  I	esday, game.  - b V - c C - c S - c G - c S - c G - c S - c G - c S - c	Valdoo Va	4, 5.—I ck clk lle b Mick lle b Mick Millingem b Wa valdock etc b Veitc b Miles nd	Drawn, 1 Illingen. esham n. Ildock	
Played at Sr the second day ca H. Pritchard b W. E. R. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Be B. Palitana c Bry R. Smith not out A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapm K. P. Bell Bla H. F. Waldock b J. R. Gammell c W. L. Nimmo c S. R. Gresham c	aldock Waldd Waldd Am Waldc Sham I Waldc Sham Sham I Waldc Sham Sham Sham Sham Sham Sham Sham Sham	BURY, Tan interior SHRP Cock	uesday, uption of wssury  pingham land  sitch  man	Wedn.  School  0 - 1 - 6 - 2 - 2 - 0 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	esday, game.	July Valdoo Valdoo Valdoo Valdoo hapm Valdoo hapm Onte ha Sell, b B Syces, w  Ward Pritchs mith Veitch Blout Palitar	d, 5.—I  ck ck ck lie b Mick an b Gr Millinge m b Wa  ell Valdock etc b Veitc  b Miles nd b Miles nd a b Miles	Drawn, 1 illingen. esham . n. hdock	
Played at Sr. the second day ca H. Pritchard b W L. B. Bowring b L. B. Blaxland b P. Miles b Gresh C. R. Harman b H. P. Ward c Gre J. J. M. Veitch b C. Schwind b Bel B. Palitana c Bry R. Smith no tout A. M. Gamble c a Byes, etc.  F. A. Waldock b I. Christopherson A. P. F. Chapm K. P. Bell c Bla: H. F. Waldock b H. F. Waldock b J. R. Gammell c W. L. Nimmo c	REWS: using aldock Waldo Waldo Waldo Millisham I. Millish	BURY, Tan interest SHRE SHRE SHRE SHRE SHRE SHRE SHRE SHRE	uesday, ruption ( wsbury  pingham  pingham  and  sitch  man	Wedner  SCHC 0 - 1 - 6 2 - 0 - 101 -	esday, game.	July Valdoo Valdoo Valdoo Valdoo hapm Valdoo hapm Onte ha Sell, b B Syces, w  Ward Pritchs mith Veitch Blout Palitar	4, 5.—I ck clk lle b Mick lle b Mick Millingem b Wa valdock etc b Veitc b Miles nd	Drawn, 1 illingen. esham . n. hdock	24 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6

168

### MALVERN COLLEGE v. REPTON SCHOOL.

Played at MALVERN, Thursday, Friday, July 6, 7.—Drawn, only about an hour's play being possible on the second day

#### REPTON SCHOOL.

A. J. C. Hirst c Partridge b Morice 136 W. D. Gairdner c Honey b Morice 37 H. M. Morris c Hamatsinhji b Mac-	A. P. Block not out 8 A. C. Kenrich not out 4 Byes, etc
vean	B. H. Abrahall W. W. Maclean did not bat.

\* Innings declared closed.

#### MALVERN COLLEGE.

H. P. Gordon not out
----------------------

### ETON v. WINCHESTER.

Played at ETON, Saturday, July 8.—As in the previous season the meeting of Eton and Winchester was restricted to one day, and again the two schools agreed not to count the game in the regular series. The contest furnished a big surprise. for although Winchester only a week before had lost to Harrow and Eton three days subsequently had beaten Harrow, Winchester won by 54 runs. In winning the toss and being thereby enabled to send Eton in to bat on a wicket which was somewhat slow, the Wykehamists enjoyed some advantage, but there could be no question as to the meritorious nature of their victory. Ashton, the Winchester captain, had only three bowlers upon whom he could depend, but these contrasted well with one another and were so judiciously used and so admirably supported in the field that they disposed of Eton in an hour and threequarters for 79. Only at one period did Eton seem at all likely to make a creditable score, Pearson and Lowndes, who came together with three wickets down for 15. putting on 41 runs. This was chiefly the work of Lowndes who, given a life, hit in capital style, but Pearson deserved praise for the restraint he imposed upon himself. Winchester began in rather worse fashion than their opponents, three wickets-one the result of a brilliant piece of fielding by Halsey-falling for 13 runs. Bankier and Ashton, however, turned the fortunes of the game with a partnership which yielded 48, and Eton's total was passed with six wickets in hand. Later on there were eight men out for 97, and the game looked to have great possibilities, but with 36 more runs added before the innings closed. Winchester had their victory assured. Still Eton afterwards gave a brilliant display of batting, hitting up 244 runs in about a couple of hours. Especially attractive was the dashing innings of Halsey, who, on account of an examination, had been prevented from playing against Harrow.

ETC	DN.
Lord Kingsborough run out G. Akroyd c Johnston b Bingham B. H. R. Palmer b Bingham N. A. Pearson b Huband W. G. Lowndes c Greenwood b Clay T. E. Halsey c Ashton b Clay W. N. Roe c Clay b Huband C. J. Wilson c Huband b Clay C. H. Gibson b Clay H. J. Wilkinson c and b Bingham B. S. Hill-Wood not out Byes, etc.	12 — c Johnston b Clay 34 1 — c Johnston b Bingham 1 1 — c Greenwood b Clay 15 8 — c Clay b Joy 30 34 — run out 2 3 — c Beatty b Clay 89 2 — c Joy b Huband 31 5 — c Bankler b Clay 34 8 — not out 3 0 1 4 Byes, etc 5
	79 244
WINCHEST	TER.
L. W. Greenwood run out. 2 J. S. Johnston b Pearson 5 C. W. Beatty b Gibson 4 A. A. Bankier lbw, b Hill-Wood 33 H. Ashton b Halsey. 17 C. E. Press c Lowndes b Kingsborough 14 R.C.G.Joy c Kingsborough b Wilson 2	C. P. Brutton not out
WINCHESTER	BOWLING.
Asht	$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$
ETON 1	BOWLING.
Hill-Wood     13     7     18       Gibson     21     15     16       Pearson     12     9     17       Halsey     11     3     25       Lowndes     7     4     10       Wilson     5     1     27       Kingsborough     4     2     5       In the regular series of matches up met 85 times. Eton have won 49 ma ended in a tie and eleven have been draw	1 1 1 2 1 1 2 1 1 2 to the time of the War the schools have thes and Winchester 24; one match

## BEDFORD SCHOOL v. MERCHANT TAYLORS' SCHOOL

 $Played\ at\ Bedford,\ Saturday,\ July\ 8.—Bedford\ won\ by\ 194\ runs.\ Carter\ took\ seven\ wickets\ for\ 18\ runs.$ 

BEDFORD	SCHOOL.
M. O. Carter c Greer b Chester	St. J. B. Nitch b Bryant

### MERCHANT TAYLORS' SCHOOL.

H. L. Greer b Carter	2 2 17 2	R. C. Smith b Carter R. N. Johnson b Carter R. H. V. Chester b Carter G. R. F. Bryant not out Byes, etc.	2 0 3
J. R. Illingworth b Symons	4		
E. H. Smith c Peel b Carter	1		40

### WESTMINSTER SCHOOL v. CHARTERHOUSE SCHOOL. Played at VINCENT SQUARE, Saturday, July 8 .- Charterhouse won by 34

WESTMINSTER	SCHOOL.
F. R. Oliver c Stern b Wooldridge 22 V. Croome lbw, b Causton	T. M. Ker c Reiss b Hollowell
H. J. Salwey c Beeching b Hollo-	162

runs.

well ..... 22

CHARTERHOUSE	s School.
P. R. Broadway lbw, b Oliver       7         J. R. Beck c and b Watkins       12         J. W. T. Wooldridge c Walsh b Greig 7       A. H. G. Butcher c and b Oliver       27         A. M. Stern b Watkins       15         T. H. P. Beeching lbw, b Oliver       0         G. Causton c Ker b Oliver       1	V. Reiss b Greig C. H. Brownhill not out P. W. Hollowell b Andrews H. N. Vincent b Oliver Byes, etc.

### WHITGIFT GRAMMAR SCHOOL V. CITY OF LONDON SCHOOL.

Played at CATFORD, Saturday, July 8.—Whitgift won by 39 runs. WHITGIFT GRAMMAR SCHOOL.

G. C. W. Brown b Collier	1 0 6 1 1	L. N. Long b Ife 28 A. Ryan c Ife b Hawker 0 A. J. K. Geere b Ife 13 W. R. Anns not out 0 Byes, etc. 12						

### CITY OF LONDON SCHOOL.

F. C. Hawker run out	0   L. E. Youngman c Brown b Geere 7
R. Youngman b Anns 1	10 H. E. Kraner run out 3
P. F. A. Ray b Brown	
K. W. Gauld c Phillips b Gibson 2	
A. G. Coulson b Anns	
D. L. Collier b Brown 1	
F. G. Hutchinson b Brown	4 79

### OUNDLE SCHOOL v. LEYS SCHOOL.

Playe	i at	OUNDLE,	Saturday,	July	8.—Leys	School	won	by	14	runs.
			Security	-	Common Action La					

OUNDLE S	CHOOL.
P. B. Silk b Holloway	G. N. V. Huskinson c Green b Hill 12 R. H. Butler c Hill b Hollowsy. 5 R. A. M. Stevens run out 6 M. T. Hirst not out 0 Byes, etc. 10 53
LEYS !	Всноог.
C. A. F. Green c Butler b Fraser	T. B. H. Anderson b Catchside 7 K. C. Holloway not out 7 E. Foster b Catchside 11 T. E. A. Griffith run out 7 Byes, etc. 11 67

### RUGBY SCHOOL v. MALVERN COLLEGE

Played at RUGBY, Tuesday, Wednesday, July 11, 12.—Rugby won by four wickets.

four wickers.
MALVERN COLLEGE.
K. S. Hamatsinhji st Lyons b Inglis.       3 — b Inglis.       30         J. D. Southern b Rotherham.       36 — c Sydenham b Inglis.       6         A. C. Honey c McCarthy b Sydenham.       19 — lbw, b Rotherham.       4         H. P. Gordon c Sawyer b Rotherham.       26 — c Sawyer b Inglis.       5         N. E. Partridge c McCarthy b Rotherham.       0 — not out.       44
A. W. W. Holsworthy st Lyon b Rotherham       8       c Simpson b Sydenham       33         W. L. T. Jenkins not out       58       c Sawyer b Sydenham       6         M. K. Franks b Rotherham       0       b Wright       5         E. D. Maevean c Sawyer b Rotherham       12       b Wright       0
W. A. Sweet-Escott c F. F. Inglis b E. G.       16       st Lyons b Inglis       13         Inglis       29       c Sawyer b Sydenham       10         Byes, etc.       8         213       164
210
RUGBY SCHOOL.
C. D. McCarthy b Hamatsinhji       15       — run out       42         C. A. Sawyer run out       9       — b Macvean       53         G. A. Rotherham b Macvean       23       — c Jenkins b Macvean       14         G. C. F. Simpson c Jenkins b Macvean       1       — b Macvean       10         M. D. Lyon c Holworthy b Morice       77       — not out       45         F. R. Kittermaster c Partridge b Morice       16       — not out       3         W. L. H. Pattison not out       22       — b Morice       0         F. F. Inglis c and b Morice       1       — c Hamatsinhji b Macvean       5
D F Wright h Magyean 8

Byes, etc. .....

180

 B. F. Wright b Macvean
 8

 F. S. Inglis b Macvean
 4

 P. S. B. Sydenham b Macvean
 8

## CITY OF LONDON SCHOOL V. UNIVERSITY COLLEGE SCHOOL.

Played at CATFORD, Wednesday, July 12.—University College School won by six runs.

CITY OF LONDON SCHOOL.

F. C. Hawker b Mackie       17         R. Youngman run out       29         A. G. Coulson b Mackie       0         K. W. Gauld b Mackie       0         D. L. Collier b Marriott       35         F. A. Hutchinson b Edwards       2         L. E. Youngman b Mackie       1	H. E. Kramer b Edwards 3 L. Lockie run out 0 A. E. Ife b Mackie 11 W. L. Pratt not out 0 Byes. ctc. 14
University Col	LEGE SCHOOL.
G. V. Marriott c Hutchinson b Gauld 41 A. B. Fletcher b Collier 0 G. J. Murdoch b Collier 9 G. T. S. Stevens st Hutchinson b Gould 20 L. McKenzie b Ifc. 3 S. C. Tchigianoff b Gauld 0 H. C. R. Grant c Pratt b Ife 2	J. L. W. Mackie b Collier

### CHELTENHAM COLLEGE v. CLIFTON COLLEGE.

P. B. Sanger c Ritchie b Matthias	24 c Sandwith b Bennett 44
G. O. Shelmerdine c Richards b Fox	85 — b Bennett 9
O. L. Roberts c Bickmore b Bennett	
G. N. Rodman c Cowper b Matthias	15 — c Matthias b Fox 6
I. J. Kilgour c Ritchie b Bennett	15 — b Sandwith 29
C. P. Guise b Sandwith	10 - st Miller b Sandwith 13
W. H. Jessop not out	13 b Fox 8
F. C. Chisnell b Sandwith:	0 - not out 6
P. T. Harrison c Hussey b Bennett	21 — c Bennett b Sandwith 4
L. W. Haslett c Richards b Fox	8 — b Fox 0
Byes, etc	17 Byes, etc 19
and the state of t	233 187

### 

G. H. T. Richards c Harrison b Jackson	29		C	Kilgour b Guise	0
J. D. Hussey lbw, b Jackson	15		c	Roberts b Shelmerdine	10
S. J. Ritchie c Robert b Jackson	5		C	Shelmerdine b Guise	17
C. F. Cowper lbw, b Jackson	10	-	c	Kilgour b Jessop	55
H. F. B. Fox b Shelmerdine					
H. S. Gordon not out	21		C	Haslett b Shelmerdine	21
F. W. Matthias b Guise	0	_	b	Rodman	26
J. B. Bennett c Kilgour b Guise	4		b	Shelmerdine	7
E. P. G. Sandwith c Harrison b Shelmer-					
dine	0	-	b	Rodman	1
E. E. P. Miller b Jessop b Shelmerdine	0	_	n	ot out	2

.... 13 Byes, etc. ...... 13 201

#### ETON v. HARROW (RETURN).

Played at Eton, Saturday, July 15.—Eton followed up their success at Harrow with another victory, but in the return engagement the margin in their favour was limited to 27 runs. Again they won the toss and again found the conditions prevailing on an early start ("summer time") such as to justify the sending in of their opponents. Inasmuch as they won both games with their famous rivals, Eton could fairly claim to have demonstrated their superiority, but a more satisfactory test would have been a two-day fixture. Harrow made a wretched start, losing four wickets for 25. A stand by Bleackley and Stevenson-Moore, yielding 56 runs, pulled the game round considerably, but of the other batsmen only Jackson met with much success. Pearson bowled in capital form and Hill-Wood secured an advantage for his side directly the innings opened. Against Gregson and Jessopp, Eton at first fared little better than their opponents had done, the score with four men out being only 36. As in the previous innings, however, there came an invaluable partnership for the fifth wicket, Lowndes and Halsey putting on 63. Possibly Gregson during this stand would have been well advised to have changed his bowling earlier even if Lowndes was lucky in some mishits falling just out of harm's way. Eton headed the Harrow total with three wickets in hand, but were only 7 runs ahead when the ninth wend down. Just when the issue hung in the balance, and everyl'run was of importance, the Harrow fielding in one or two instances became a little unsteady. In Harrow's second innings Bleackley was again seen to advantage, his play on the on-side being very strong. In company with Patterson he put on 66 runs.

HARF	ROW.
H. G. Patterson b Hill-Wood	6 — st Wilkinson b Wilson 23 3 — c Wilkinson b Gibson 15 1 — c Wilkinson b Hill-Wood 0 9 — c Halsey b Gibson 2 42 — c Pearson b Hill-Wood 42 22 — c and b Wilson 42 124 — c Lowndes b Gibson 9 8 — not out 25 3 — not out 23
Byes, etc	. 6 Byes, etc
	The state of the s
and the state of t	128

#### 

	Overs	Mdns.	Runs	Wkts.	Overs 10	Mdns.	Runs 22	Wkts.
Hill-Wood	. 16	5	30	э.	 10	0		-
Gibson	12	7	22	1.	 12	4	29	3
Halsey		ò	7	0 .	 8	2	28	0
Pearson		5	22	4 .	 11	6	18	0
Lowndes		1	11	0 .	 5	1	10	0
Wilson	. 5	0	12	1 .	 3	0	16	2
Kingsborough	š	1	18	1 .	 1	0	3	0
			Roe		 3	0	17	0

ETON BOWLING.

### HARROW BOWLING.

Jessopp	18	2	62	4	
Gregson	19	3	58	1	
Peel	4	0	19	1	
Jackson	2	0	8	0	

In the regular series of contests up to the time of the War eighty-nine matches have been played, of which Eton have won thirty-six, Harrow thirty-five, and eighteen have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular match between the two schools, contending that it is no more correct to count that than the fixture in 1857, which has been rejected.

#### ST. PAUL'S SCHOOL v. MERCHANT TAYLORS' SCHOOL.

Played at WEST KENSINGTON, Saturday, July 15.—St. Paul's won, three minutes before time, by 113 runs.

#### ST. PAUL'S SCHOOL.

C. H. Pearson b Bryant 3	B. F. Guy b Chester 23
A. D. Whitehorn c and b Chester , 66	L. W. Jackson c Noakes b Saint . 10
H. C. Solomon c Noakes b Chester, 57	D. B. Martin not out 5
C. J. Sharp b Greer 61	Bycs, etc
L. H. Kutter c Saint b Chester 16	h = week distribute of foundation for the
N. S. Atkinson b Chester 0	*275
B. G. Atkinson b Bryant 3	H. G. Cockman did not bat.

### \* Innings declared closed.

Immige	acciarca ciosca.
MERCHANT T	TAYLORS' SCHOOL.
E. H. Dowdell b N. Atkinson	7 H. T. Noakes not out 4 R. H. Chester b N. Atkinson 1 6 G. R. Bryant c Jackson b N. 1 Atkinson 8 9 Byes, etc. 19 0 162
R. F. Gill b N. Atkinson	7   H. T. Noakes not out R. H. Chester b N. Atkinson 6 G. R. Bryant c Jackson b N. 1   Atkinson 9   Byes, etc 1

#### BRIGHTON COLLEGE v. LANCING COLLEGE.

Played at BRIGHTON, Saturday, July 15.—Brighton won by 91 runs. Bourdillon took seven wickets for 29 runs.

#### LANCING COLLEGE.

12211(1.10	COLDINGE.	
R. E. C. Goff c and b Deighton	17 — c Gill b Briscoe	0
E. H. Savory c Deighton b Bourdillon		
W. M. Tatham c Macann b Bourdillon	14 — not out 1	17
I. M. Cross b Bourdillon		
H. N. Thomas c Gill b Bourdillon	9 — c Gill b Deighton	3
F. R. F. Scott c Akers b Bourdillon	5 — not out	4
L. G. Stearn b Deighton	4 — b Briscoe	2
R. G. Thompson not out	8 — b Briscoe	0
M. C. P. Tuckett b Deighton	0	
R. E. Walker b Bourdillon		
J. N. C. Ford b Bourdillon		
Byes, etc		9
		-
	100	AR

BRIGHTON	Collegs.
V. E. Bourdillon c Savoryb Tuckett 34 A.E. H. Macann c Thomas b Tuckett 8 A. E. Brooke lbw, b Ford	W. V. Newton c Thomas b Tuckett 0 C. H. J. Deighton b Tuckett 18 W. C. Drake not out 5 F. M. E. D. Briscoe c Walker b Tuckett 6 Byes, etc 33 214
WELLINGTON COLLEGE	v. CHARTERHOUSE SCHOOL.
Played at Weillington College, a	Saturday, July 15.—Wellington won by
WELLINGTON	COLLEGE.
J. A. Hirst c and b Hollowell 21 M. C. Dobbs c Hollowell b Wooldridge	P. A. A. Clery b Hollowell 12 W. M. Goodenough c Brownhill b Beck 6 Hon. A. M. L. Crofton c Garth b
J. N. Whitworth b Wooldridge. 0 H. Birkmyre c Wooldridge b Beek T. G. Wallis c Rucker b Beek 4 E. I. C. Jacob c Wooldridge b Beek 4	Hollowell
	173
CHARTERHOUS	E SCHOOL.
P. R. Broadway b Goodenough	T. H. P. Beeching b Clery 0 G. Cawston c Dobbs b Whitworth 8 P. W. C. Hollowell c Jacob b Whit- worth 5 H. N. Vintcent not out 1 Byes, etc. 11
	1
SHREWSBURY SCHOOL Played at Shrewsbury, Saturday, REPTON	Вснооь.
A. J. C. Hirst c Veitch b Miles 59 W. D. Gairdner c Schwind b Smith 21 H. M. Morris c and b Smith 62 R.L.Holdsworth c Gamble b Veitch 74 P. S. S. Bower not out	A. P. Block c Ward b Miles 6 Byes, etc
* Innings dec	lared closed.
SHREWSBURY	SCHOOL.
H. B. Pritchard lbw, b Byass 6 W. R. Smith b Bower 52 C. A. Schwind c Hollms b Morris 18 H. P. Ward not out 49 P. Miles not out 54 Byes, etc. 14	J. J. M Veitch C. R. Harman B. Palitana A. M. Gamble L. W. T. Wethered H. D. Badger

EPSOM COLLEGE v. UNIVERSITY COLLEGE SCHOOL. Played at EPSOM, Saturday, July 15 .- University College School won by eight runs. EPSOM COLLEGE. F. C. Neale not out ...... 13 C. S. B. Swinley b Marriott ..... 0 J. H. M. Rogers b McKenzie .... 8 O. C. Ardagt b Marriott..... 4 S. C. Guilding st Murdoch b Marriott 6 J. P. Marsden b McKenzie ..... A. P. Thomas c McKenzie b Stevens 9 A. Irving b Marriott..... 4 Bves, etc..... A. S. Newson b Marriott ...... 8 J. F. F. Oakshot b Stevens ..... 21 123 G. D. Buck c Marriott b Edwards . 26 UNIVERSITY COLLEGE SCHOOL. J. L. W. Mackie b Thomas ..... G. V. Marriott b Guilding ..... 14 S. Hirsch b Thomas ..... L. McKenzie c and b Marsden .... H. W. Dulcken b Swinley ..... G. J. Murdoch c and b Thomas ... 43 G. T. S. Stevens c Newson b Thomas 18 W. Edwards not out ..... A. B. Fletcher c Irving b Swinley 19 Byes, etc.... S. C. Tchigianoff b Marsden ..... 14 131 H. C. R. Grant c Thomas b Marsden 8 WHITGIFT SCHOOL v. KING'S COLLEGE SCHOOL. Played at CROYDON, Saturday, July 15 .- Whitgift won by four wickets. KING'S COLLEGE SCHOOL, WIMBLEDON. K. B. Marsland c Geere b Anns... 27 C. E. P. Harrison c Pritchard b Anns 10 W. L. Dickinson c Brown b Anns 25 R. C. Rham b Brown ..... 0 C. H. Sivers lbw, b Brown ..... H. G. Freeman lbw, b Brown .... 0 J. P. G. Dowman b Gibson ..... 8 A. J. Peers not out ..... R. L. Collier c Pritchard b Gibson 5 Byes, etc..... F. O. T. Strange c Gibson b Brown 28 143 J. P. Woodman c Bradshaw b Geere 11 WHITGIFT SCHOOL. A. E. Belchamber not out ...... G. C. W. Brown b Dickinson . . . . . 38 E. A. B. Pritchard b Dickinson ... 25 G. H. Phillips b Dickinson ..... 0 147 F. W. Allen b Peers . . . . . . . . . 23 L. N. Long b Peers ...... 27 K. S. Bradshaw did not bat A. Ryan W. R. Anns A. J. K. Geere b Peers ..... BEDFORD GRAMMAR SCHOOL v. LEYS SCHOOL. Played at BEDFORD, Saturday, July 15 .- Bedford Grammar School won by 112 ruus. Carter took eight wickets for 25 runs. LEY'S SCHOOL. F. B. H. Anderson b Carter ..... 15 C. A. F. Green c Symons b Carter . 3 K. C. Holloway b Carter ..... 0 E. K. Hill c and b Symons ..... 3 G. S. Page c Wightman b Carter .. 19 E. Foster c Wightman b Carter ... T. E. A. Griffith not out ...... L. G. W. McArthur b Carter ..... 3 Byes, etc..... C. K. Parker b Carter ..... 20 G. H. Kenvon b Symons ...... 1 J. P. Hargreaves c Symons b Carter 0 BEDFORD GRAMMAR SCHOOL. M. O. Carter c Holloway b Green . 37 F. W. G. Nash b Holloway ..... C. K. Davies c Hargreaves b Hill 2 E. L. Chaplin b Green ..... 37 B. A. F. McFarlane hit wkt., b H. L. Mitchell c and b Hill ..... 9 K. W. A. Symons lbw, b Hill ..... 0 E. H. P. Greaves c Hargreaves b Hill ..... A. H. B. Dyer b Green . . . . . . . . . . . . 178 S. J. B. Nitch b Green .....

### FELSTED SCHOOL v. KING'S SCHOOL, CANTERBURY.

Played at FELSTED, Tuesday, Wednesday, July 18, 19.—By prior arrangement this match, falling a definite result otherwise, was decided on the first innings, so King's School won by 24 runs.

### KING'S SCHOOL, CANTERBURY.

R. J. Wilby b Coe       18         H. J. Wenban lbw, b Hobbs       28         A. V. J. Dean b Coe       7         W. L. B. Palmer b Wilson       16         W. I., Gibson b Cartwright       28	7 — c Adams b Coe	1
C. H. Rolfe c Adams b Hobbs	— lbw, b Cartwright	
R. E. C. Mead b Hobbs	Byes, etc.	1

#### FELSTED SCHOOL.

E. J. Hunter b Palmer	H. J. S'A. Davies hit wkt., b Dean 22 F. T. A. Wilson c and b Dean
-----------------------	--

## MILL HILL SCHOOL V. CITY OF LONDON SCHOOL.

Played at MILL HILL, Wednesday, July 19 -Mill Hill, with one wicket to fall, won by 75 runs.

### CITY OF LONDON SCHOOL.

### MILL HILL SCHOOL.

J. S. Lamont b Collier J. Altham run out C. W. Hodgins b Collier E. S. Burns lbw, b Hawker F. B. Sagar b Collier J. G. Anton not out P. A. Batty b Pratt	8 0 2 3 49	M. L. Larman b Kramer
P. A. Batty D I att	-	133

# CLIFTON COLLEGE v. TONBRIDGE SCHOOL Played at CLIFTON, Monday, Tuesday, July 31, August 1.—Drawn.

	COLLEGE.
J. D. Hussey run out. S. J. Ritchie b Garratt. H. S. Gordon b Musson. H. F. B. Fox st Bennett b FitzGerald. K. C. Bisdee lbw, b Garratt. J. P. Bennett b Musson E. P. G. Sandwith b FitzGerald.	22 — c and b Garratt
Byes, etc	25 Byes, etc 6
	*139
* Innings dec	lared closed.
Tonbridg	E SCHOOL.
P. H. FitzGerald lbw, b Mathias. A. L. Garratt c Fox b Sandwith. L. B. Hedges c Sherborne b Bennett. C. H. Evans c Richards b Gordon. R. C. Culhame c Sherborne b Sandwith E. P. W. Lewis run out. F. W. Bennett lbw, b Bennett. T. H. Welldon c Sherborne b Bennett. G. D. Hale c Hussey b Bennett. A. Musson not out. J. L. Lotinga run out.	6 — not out
Byes, etc.	24 Byes, etc 7
5.2 5.3	242 120

### MARLBOROUGH v. RUGBY.

Played at Marlborough, Tuesday, Wednesday, August 1, 2.—Contested on a splendid wicket, this match, after some striking changes of fortune, ended amid great excitement in a victory for Rugby by eight runs. Batting freely from the start, Rugby, despite a useful innings by McCarthy, met with so little success that they had seven men out for 135. At that point, however, Wright came in and hit with such vigour that the eighth wicket yielded 93 runs, the total in the end reaching 268. Wright's 94 included a 6 and sixteen 4's. Paul and Ashfield opened Marlborough's innings in such fine style that the score was up to 121 before the first wicket fell. This splendid start was so far from being maintained that with seven wickets down the total had only been advanced to 194. Again came a big stand for the eighth wicket, Waldegrave assisting O'Shea to add 88, and Marlborough securing a lead of 61 on the first innings. The drawing of stumps found Rugby 12 runs behind with nine wickets in hand. Next day Rugby had half their wickets down for 150—only 89 ahead—when Kittermaster and Pattison came together and hit up 164 runs, Kittermaster carrying out his bat for a brilliant 110. Left with 296 to win, Marlborough lost Paul and Cornwall for 88, but the partnership of Ashfield and Jordan, yield runs being wanted with seven wickets to fall. The close of Ashfield's splendid innings at 197, however, was specdily followed by three other disasters, and although O'Shea and Waldegrave took their side to within 34 of victory, a great effort by Marlborough just failed of success. In the course of the two days no fewer than 1,240 runs were obtained. Farrer and Elmhirst bowled well for Marlborough, as did Inglis, Rotherham, and McCarthy for Rugby.

Tren Dram

Rug	BY.	
G. D. McCarthy st Waldegrave b Elm- hirst	57	— с Farrer b Paul 36
C. A. Sawyer b Hume		- lbw, b Elmhirst 17
L. A. Rotherham c Farrer b Elmhirst		— lbw, b Farrer 38 — b Elmhirst 7
J. C. F. Simpson b Farrer		— b Elmhirst
M. D. Lyon c Cornwall b Hume	30	- D Fairer
W. L. H. Pattison c Waldegrave b	2	— c and b Farrer 96
F. R. Kittermaster c and b Farrer	29	— not out110
T. D. Cave lbw, b Farrer	5	- st Waldegrave b Elmhirst 7
R. F. Wright b Farrer		— c Ashfield b Elmhirst 0
G. F. Inglis b Farrer		- b Paul 0 - lbw, b Elmhirst 3
R. St. P. Sydenham not out Bycs, etc	9	Byes, etc 34
Dyes, etc	_	
	268	356
MARLBOR		
	oug	н.
L. A. Ashfield c Lyon b Sydenham	51	- c Sawyer b Inglis129
L. A. Ashfield c Lyon b Sydenham	51 68	- c Sawyer b Inglis 129 - c Cave b Sydenham 9
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out	51 68 21	- c Sawyer b Inglis 129 - c Cave b Sydenham 9 - c Lyon b Rotherham 19
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis	51 68 21 7	- c Sawyer b Inglis
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out. A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham I. N. Gresham c Cave b Rotherham.	51 68 21 7 2	c Sawyer b Inglis
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out. A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis G. S. Butler c Lyon b Rotherham. J. N. Gresham c Cave b Rotherham. R. G. B. Farrer *t Lyon b Inglis	51 68 21 7 2 22 0	c Sawyer b Inglis 129 c Cave b Sydenham 9 c Lyon b Rotherham 10 c Kittermaster b McCarthy 32 c Sawyer b Inglis 2 b McCarthy 0 b Inglis 18
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out. A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham. J. N. Gresham c Cave b Rotherham. R. G. B. Farrer st Lyon b Inglis. P. G. O'Shea c Wright b Inglis.	51 68 21 7 2 22 0 63	- c Sawyer b Inglis 129 - c Cave b Sydenham 9 - c Lyon b Rotherham 10 - c Kittermaster b McCarthy 32 - c Sawyer b Inglis 2 - b McCarthy 0 - b Inglis 12 - b Rotherham 31
L. A. Ashfield c Lyon b Sydenham E. K. M. Paul run out. A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham J. N. Gresham c Cave b Rotherham. R. G. B. Farrer st Lyon b Inglis. P. G. O'Shea c Wright b Inglis. E. J. Waldegrave lbw, b Inglis.	51 68 21 7 2 22 0 63 20	c Sawyer b Inglis 129 c Cave b Sydenham 99 c Lyon b Rotherham 19 c Kittermaster b McCarthy 32 c Sawyer b Inglis 22 b McCarthy 60 b Inglis 18 b Rotherham 31 b Rotherham 35
L. A. Ashfield c Lyon b Sydenham. E. K. M. Paul run out. A. E. Cernwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham. J. N. Gresham c Cave b Rotherham. R. G. B. Farrer st Lyon b Inglis. P. G. O'Shea c Wright b Inglis. E. J. Waldegrave lbw, b Inglis. J. Elmbirst not out.	51 68 21 7 2 22 0 63 29 17	- c Sawyer b Inglis 129 - c Cave b Sydenham 9 - c Lyon b Rotherham 19 - c Kittermaster b McCarthy 32 - c Sawyer b Inglis 2 - b McCarthy 0 - b Inglis 18 - b Rotherham 31 - b Rotherham 35 - b McCarthy 0 - not out 0
L. A. Ashfield c Lyon b Sydenham. E. K. M. Paul run out. A. E. Cernwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham. J. N. Gresham c Cave b Rotherham. R. G. B. Farrer st Lyon b Inglis. P. G. O'Shea c Wright b Inglis. E. J. Waldegrave lbw, b Inglis. J. Elmbirst not out. B. S. Hume b Sydenham.	51 68 21 7 2 22 0 63 20 17 12	- c Sawyer b Inglis 129 - c Cave b Sydenham 9 - c Lyon b Rotherham 19 - c Kittermaster b McCarthy 32 - c Sawyer b Inglis 2 - b McCarthy 10 - b Inglis 18 - b Rotherham 31 - b Rotherham 35 - b McCarthy 36
L. A. Ashfield c Lyon b Sydenham. E. K. M. Paul run out. A. E. Cornwall c Rotherham b Sydenham H. G. B. Jordan c Wright b Inglis. G. S. Butler c Lyon b Rotherham. J. N. Gresham c Cave b Rotherham. R. G. B. Farrer st Lyon b Inglis. P. G. O'Shea c Wright b Inglis. E. J. Waldegrave lbw, b Inglis. J. Elmhirst not out. B. S. Hume b Sydenham. Byes, etc.	51 68 21 7 2 22 0 63 20 17 12	- c Sawyer b Inglis 129 - c Cave b Sydenham 9 - c Lyon b Rotherham 19 - c Kittermaster b McCarthy 32 - c Sawyer b Inglis 2 - b McCarthy 0 - b Inglis 18 - b Rotherham 31 - b Rotherham 35 - b McCarthy 0 - not out 0

Of the 58 matches between the two schools Rugby have won 32 and Marlborough 13. The remaining eight have been unfinished.

### LORD'S SCHOOLS v. THE REST.

Played at LORD's, August 7, 8.—This was the one match of real interest at Lord's during the season. The Lord's Schools were too strong for their apponents, outplaying them and winning by 111 runs. Jessopp bowled wonderfully well.

LORD'S SCHOOLS.	
H. G. Patterson (Harrow) b Huband 0 b Huband	()
J. A. S. Jackson (Cheltenham) c Stevens  b. Hubard  81 b Stevens	36
b Huband 81 b Stevens	81
C. D. McCarthy (Rugby) b Greig 16 c Greig b Carter	14
W. G. Lowndes (Etcn) b Greig 0 — c Hamatsinhi b Stevens	14
G O Shelmerdine (Cheltenham) run out 6 — c and b Gentry	39
G A Rotherham (Rugby) b Huband 6 - c Huband b Carter	2
M. D. Lyon (Rugby) c Gentry b Oliver. 1 b Gentry	25
J. V. Hughes-Hallett (Haileybury) b	
	1
Thentille	
N. A. Jessopp (Harrow) c Huband b	0
FitzGerald 18 not out	-
L. H. K. Gregson (Harrow) b numana 15 - b occords	5
C. P. Guize (Cheltenham) not out 6 lbw, b Stevens	0
Byes, etc 20 Byes, etc	30
13(13) (11.1.	-
242	183
#T#	

THE D	EST
H. P. Ward (Shrewsbury) b Jessopp M. O. Carter (Bedford Grammar School)	1 — c Lyon b Jessopp 11
c Lyon b Jessopp	5 — b McCarthy 12
H. Ashton (Winchester) lbw, b Gregson	
C. L. D. Fawcus (Bradfield) run out K. S. Hamatsinhji (Malvern) st Lyon b	24 — b Jessopp 65
Gregson	7 — b Jessopp 0
F. R. Oliver (Westminster) b Jessonp G. T. S. Stevens (University College	3 - lbw, b McCarthy 1
School) c Lowndes b Jackson	28 — b Jessopp 5
P. H. FitzGerald (Tonbridge) b Gregson	
G. D Huband (Winchester) b Rotherham	39 - c Jessopp b McCarthy 0
G. G. F Greig (Westminster) c Lyon b Rotherham	25 — b Jessopp 10
out	7 — not out 2
Byes, etc.	
	181

	Overs	Mdns.	Runs	Wkt	3.	Overs	Mdns.	Runs	Wkts
Huband	13.2	1	68	4		13	1	40	1
Oliver		1	33	1		5	1	20	0
Greig		3	45	2		3	0	14	0
Gentry		1	36	0			3	17	3
Carter		ô	16	0		-	0	18	2
Stevens		ĭ	4	0		0 "	1	16	4
Fawcus		ñ	3	Õ		•	0	16	0
FitzGerald		o	17	2		•	Ö	12	0
		Lord'	в Всно	ols' B	OWLI	NG.			
Jessopp	. 15	5	26	3		15	3	47	5
Greggon		1	55	3		7	0	28	1
Guise		1	11	0		5	1	21	0
Shelmerdine	. 5	1	8	0					
Retherham		1	18	2					
Jackson		0	24	1					
Lowndes	. 2	0	13	0					
DOWNAGO TITTI			McC	arthy		13	5	29	4

Umpires . W. A. J. West and H. Butt.

## AVERAGES.

### BEDFORD GRAMMAR SCHOOL BATTING.

	Inning	(S	Runs		lost in a Innings	Times not out	Average
M. O. Carter	10		242		43	 0	 24.20
K. W. A. Symons			180		69*	 1	 20.00
F. W. G. Nash			118		28	 4	 19.66
B. A. T. McFarland .	8		115		38	 2	 19.16
E. H. P. Greaves	9		139		42*	 1	 17.38
H. L. Mitchell			120		35	 1	 17.14
C. K. Davies			124		45	 0	 15.50
E. L. Chaplin			115		37	 0	 14.37
A. B. H. Dyer			92		27	 1	 13.14
St. J. B. Nitch	9		80		4:3	 1	 10.00
R. L. Wightman			11		7*	 1	 5.50
20. 23 Million			Signifies	not o	ut.		

## BEDFORD GRAMMAR SCHOOL BOWLING.

	Overs	M	aidens	Runs	W	lickets	Average
M. O. Carter	_		-	 382		34	 11.23
K. W. A. Symons .				 401		30	 13.36
C. K. Davies			-	 274		7	 39.14

## BRADFIELD COLLEGE BATTING.

				3	lost in an		Times	
	Inning	В	Runs		innings		not out	Average
C. L. D. Fawcus		٠.	501		164*		3	125.25
G.W. Kenyon-Slaney	4		54		29*		3	54,00
R. E. O'Brien	. 8		366		118	٠.	0	45.75
C. L. Hawker	4		34		20*		3	34.00
A. D. S. Gordon			55		31		0	18.33
J. G. Stevenson			107		90*		1	17.83
C. G. Clarke			68		25	, ,	0 .	13.60
W. M. Mullins			74		31		1 .	12.33
G. H. Mower			10		10		0 .	10.00
G. A. Stephenson			5		5		1 .	5.00
H. L. Batty-Smith			16		7		0 .	3.20
2. 2230j Dimen.			Signifies	not	out.			

### BRADFIELD COLLEGE BOWLING.

			Overs		Maiden	8	Runs	W	ickets		Average
C.	G.	Clarke	26		0		128		8		16.00
		Mower	27.1		2		68		4		17.00
C.	L.	D. Fawcus	86.2		13		311		17		18.29
R.	E.	O'Brien	98		9		327		16		20.43
G.	A.	Stevenson	41.5		6		180		7		25.71
G.	W.	Kenyon-Blaney	58	• •	2		194		5	•	38.80

### BRIGHTON COLLEGE BATTING.

SWAT A TWO SUM-	Inning	s	Runs	1	Most in a	n	Times	Average
V. E. Bourdillon	17		615		101		1	 38.43
A. E. Brooke	17		342		45		0	 20.11
A. E. H. Macann	18		321		96		1	 18.88
R. W. Akers	5		55		31		1	 13.75
F. G. White	11		115		35		2	 12.77
C. W. H. Gill	16		160	5.	36	٠.	3	 12.30
H. Lingard	15		169		57		1	 12.07
C. H. T. Deighton	15		155	9.5	24		1	 11.07
W. C. Drake	9		31		9*		4	 6.20
F. M. E. D. Briscoe .	11		39		8		4	 5.55
W. V. Newton	15		76		18		1	 5.42
			N. 10					

## Signifies not out.

### BRIGHTON COLLEGE BOWLING.

	Overs	Maide	ns	Runs	1	Vicket	8	Average
H. Lingard	43	 8		132		11		12.00
F. M. E. D. Briscoe .	136.2	 7		519		42		12.35
C. H. T. Deighton	186	 28		539		39		13.82
V. E. Bourdillon	132.4	 19		489		35		13.97
W. V. Newton	20	 5		68		4		17.00
A. E. Brooke	10	 2		47		2		23.50
W. C. Drake	47	 5		173		6		28.83

## CHARTERHOUSE SCHOOL BATTING.

				A	fost in an	Times	
	Inning	83	Runs		innings	not out	Average
A. H. G. Butcher	8		253		89	 1	36.14
R. G. L. Garth	9		287		115*	 1	35.88
J. W. Wooldridge	12		241		63*	 4	30.12
V. Reiss	14		356		70	 2	29.66
J. B. Beck	14		322		70	 2	26.83
P. R. Broadway	14		299		82*	 1	23.00
C. N. Brownhill	5		69		35*	 2	23.00
R. S. Rücker	7		146		66	 0	20.85
H. N. Vintcent	8	2	65		45*	 4	16.25
P. W. C. Hollowell .	6	7	63		24	 1	12.60
G. Cawston	12		114		24*	 2	11.40
			Hamilton	not a	2114		

## CHARTERHOUSE SCHOOL BOWLING.

	Overs	Maidens	Runs	Wicket	8	Average
P. W. C. Hollowell	178	 39	 503	 43		11.69
J. W. Wooldridge	46	 7	 149	 12		12,41
J. B. Beck	76.4	 2	 320	 24		18.33
G. Cawston	176.4	 25	 550	 32		17.18
P. R. Broadway		 27	 399	 23		17 34

## Public School Averages.

## CHELTENHAM COLLEGE BATTING.

mail a	Inning	8	Runs	M	ost in an innings		Times ot out		Average
G. O. Shelmerdine .	10		404		138*		1		44.88
P. B. Sanger	11		410		79		1		41.00
J. A. S. Jackson	10		275		87*		2		34.37
P. T. Harrison	8		117		49*		4		29.25
C. P. Guise	5		111		50		0		22.20
G. N. Rodman	10		183		64		0		18.30
O. L. Roberts	9		132		33*		1		16.50
I. J. Kilgour	11		145		31		1		14.50
L. F. Hancock	5		44		22		1		11.00
L. W. Haslett	5		48		37		0		9.60
W. H. Jessop	7		43		13*		1		7.16
	6		14	• • • • • • • • • • • • • • • • • • • •	6*		2		3.50
F. C. Chisnell	0	• •			1.00	• •	-	••	
		*	Signifies	not	out.				

## CHELTENHAM COLLEGE BOWLING.

Maidens	Runs	V			Average
23	412		26		15.84
2	353		18		19.61
2	109		5		21.60
6	319		12		26.58
	299		9		37.37
	155		3		51.66
	169		3		56.33
	28 2	28 . 412 2 . 353 2 . 108 6 . 319 14 . 299 11 . 155	23 412 2 353 2 108 6 319 14 299 11 155	28 412 26 2 353 18 2 109 5 6 319 12 14 299 3 11 155 3	28 . 412 . 26

## CLIFTON COLLEGE BATTING.

Apple of the County	nning	18	Runs		lost in an innings		Cimes ot out		Average
A. F. Bickmore	12		596		134		1		54.18
C. F. Cowper	5		169		64		0		33.80
H. S. Gordon	11		171		38		2		19.00
	12		207		55		1		18.81
		• •	102		26		1		14.57
F. W. Mathias	8	• •	109		55		î		13.62
J. P. Bennett	9	• •				• •	Ô	• •	12.27
J. D. Hussey	11		135		41	• •	0		12.00
G. H. T. Richards .	12		144		29		U		
H. F. B. Fox	7		75		35		0		10.71
H. F. Sherborne	7		32		21*		4		10.66
E. P. G. Sandwith	7		34		15		1		5.66
		* 8	ignifies	not	out.				

## CLIFTON COLLEGE BOWLING.

	Overs	Maidens	Runs	W	ickets	Average
E. P G. Sandwith .		 14	 265		17	 15.58
H. F. B. Fox		 13	 279		14	 19.93
J. P. Bennett		 34	 580		29	 20.00
A. F. Bickmore		 2	 103		3	 34.33
F. W. Mathias		 3	 388		11	 35.27

## DULWICH COLLEGE BATTING.

agrant to to	Inning	g	Runs	15.	Most in an innings	Times not out	Average
L. W. Franklin	16		312	26	66	 1	 20.80
L. G. Costa	17		262		65*	 4	 20.15
F. H. Hudson	17		290		48*	 1	 18.12
C. E. Cat	17		123		20*	 5	 10.25
A. C. Sanderson	17		153		63*	 2	 10.20
A. N. Gilkes	5		28		14	 2	 9.33
J. H. Humphreys	14		120		26	 0	 8.57
G. Packman	11		63		32*	 3	 7.87
N. L. Pisani	12		82		28	 1	 7.45
J. J. Muller	15		91		19	 1	 6.50
H. A. Newnham	10		45		11	 0	 4.50
		* 81	onifies 1	not.	ont		

## DULWICH COLLEGE BOWLING.

	Overs		Maidens		Runs	W	ickets		Average
F. H. Hudson			26		591		46		12.84
L. G. Costa	133		30		369		26		14.19
J. J. Muller			7		93		6		15.50
J. H. Humphreys L. W. Franklin	. 33		5		162		10		16.20
G. Packman			7		173 150		8		21.62
H. A. Newnham		••	6	• •		• •	5	• •	30.00
H. A. Newnham	9	• •	0	• •	43		4	• •	10.75

## DURHAM SCHOOL BATTING.

	Inning	78	Runs		fost in an innings	not	imes	ut	Average
T. C. Squance	11		492		95		2		54.66
R. F. Kirby	10		282		113*		1		31.33
G. W. Todd			229		103*		1		28.62
J. L. F. Fenwick	10		192		46*		1		21.33
B. I. Arkless	9		113		30*		2		16.14
G. Jederton	8		81		26*		2		13.50
O. H. R. Gee	10		129		56		0		12.90
H. C. Ferens			111		33		0		12.23
R. A. Goodall	10	• •	33		7*		3		4.71
			Signifies	not o	ont				

## DURHAM SCHOOL BOWLING.

	Ove	rs	Maidens		Runs		Wicke	ts	Average
B. I. Ark	enwick . 11 ess 5 ence 11	· · ·	11 25 8 20	••	190 293 199 872	•••	26 22 14 16	::	7.30 13.31 14.21 23.25

## EASTBOURNE COLLEGE BATTING.

				Most in an Times							
	nning	B	Runs		innings		not out		Average		
N. E. V. Patterson	13		423		119*		3		42.30		
D. W. Kermode	13		378		75*		2		34.36		
G. L. Still	11		235		59		0		21.36		
F. Walton	10		108		59*		3		15.42		
F. B. Hant	11		131		29		0		11.91		
F. B. R. Browne	11		118		28		0		10.72		
A. G. Matthew	11		114		31		0		10.36		
L. W. Eykyn	11		88		29*		2		9.77		
K. C. Y. Browne	13	• • • • • • • • • • • • • • • • • • • •	120		26		0		9.23		
	11		91		38		0		8.27		
A. R. Morres	8		37	• •	21*		3		7.40		
A. A. Molles	О		-					10/10			
		* ;	Signifies 1	TOP	ouv.						

## EASTBOURNE COLLEGE BOWLING.

	vers	Maidens	Runs	W	ickets	Average
F. B. R. Browne	178	24	 563		37	 15.21
A. R. Morres		3	 343		21	 16.33
D. W. Kermode		16	 585		30	 19.50
A. K. Cowper	7	0	 27		2	 18.50
N. E. V. Patterson	22	1	 86		5	 17.20
L. W. Eykyn	18	2	 83		4	 20.75
F. Walton	23	0	 120		5	 24.00
T. Haivon						

## EPSOM COLLEGE BATTING.

	Inning	a .	Runs		st in an		Times		Average
			210		38	2000	0		19.09
A. Irving	11			• •	55*	• •	1		18.16
F. C. Blucke	7		109	• •			7	• •	
O. C. Ardagh	6		105		65		0		17.50
S. C. L. Guilding	12		156		58*		2		15.60
			144		47*		1		14.40
C. S. B. Swinley							2		12.40
F. C. Neale	7		62		26		4		
J. H. M. Rodgers	Ω		98		32		1		12.25
G. D. Buck	10		112		29		0		11.20
	10	• •	~ 7						
R. W. L'Estrange-	_		01		9*		1		5.25
Heppard	5		21					• •	
A. S. Newsom	10		49		12		0		4.90
			15		9		1		3.75
A. R. Thomas	J				-		_		
		*	Signifles	not o	ut.				

## EPSOM COLLEGE BOWLING.

07	vers	Maidens	Runs	Wicket	8	Average
C. S. B. Swinley 1	20	21	 337	 29		11.62
A. R. Thomas 1	10.1	25	 219	 17		12.88
	61	10	 196	 15		13.06
	59.2	9	 149	 11		13.55
	62.2	19	 140	 θ		15.55
	99	21	 242	 13		18.61

### ETON COLLEGE BATTING.

				M	lost in a	n	Times		
	Inning	83	Runs	1	innings	n	ot ou	t	Average
C. J. Wilson	4		158		91*		1		52.66
W. G. Lowndes	. 8		206		60		0		25.75
T. E. Halsey	7		138		57		1		23.00
W. N. Roe	5		89		41		0		17.80
B. S. Hillwood	4		31		15*		2		15.50
N. A. Pearson			84		29*		1		14.00
Viscount Kings-									
borough	7		70		16		0		10.00
G. Akroyd			53		34		0		7.57
H. F. Wilkinson	6		28		20		1		5.60
C. H. Gibson	5		25		8		0		5.00
Sir A. Baillie			19		8		0		4.75
R. H. R. Palmer	5		11		4		0	• •	2.20
		* 5	Signifies	not o	ut.				

## ETON COLLEGE BOWLING.

	Overs		Maidens	Runs	Wicket	ta	Average
C. H. Gibson	69		32	 120	 15		8.00
N. A. Pearson	39		17	 89	 8		11.12
Viscount Kings-							
borough	15		3	 67	 в		11.16
Sir A. Baillie	42		8	 134	 11		12.18
B. S. Hillwood	69		18	 158	 12		13.16
W. G. Lowndes	36		10	 108	 6		18.00
C. J. Wilson	13		2	 45	 2		22.50
T. E. Halsey	59	٠.	13	 190	 6		31.33

## FETTES COLLEGE BATTING.

				M	ost in a	n '	Times		
	Inning	8	Runs	1	nnings	n	ot out		Average
G. S. Conway	9		220		94		0		24.44
A. J. Davis			112		46		1		14.00
R. M. McConechy	3		42		24		0		14.00
T. S. Ross			46		17		2		11.50
E. Rose			74		30		0		8.22
D. A. Riddell	8		65		15		0		8.12
W. G. Dean	8		59		24		0		7.37
E. H. P. Mallinson .	6		39		11		0		6.50
J. P. Maclay	5		32		15		0		6.40
D. M. Houston			48		17		1		6.00
E. Read			15		5	• •	2	• •	3.00
		••	15	••	5	••	2	••	3.00

## FETTES COLLEGE BOWLING.

	Overs	Maidens	Runs	Wicket	S	Average
E. A. P. Mallinson .	73.4	 19	 153	 17		9.00
T. S. Boss	52	 12	 125	 12		10.41
E. Read	76	 22	 208	 19		10.94
D. M. Houston	68	 9	 184	 15		12.26

## FOREST SCHOOL BATTING.

	Inning	18	Runs	1	Most in an innings		Times not out		Average
H. P. Waugh		,	356		87		0		44.50
H. I. Waugh			235		96		0		26.11
A. M. Taylor			85		51		1		17.00
H. A. Lewis							ā	-	14.40
W. S. Wasey	5		72		33		0	• •	14.33
L. C. A. Leefe			86		25		Ų	• •	
H. S. Mather			99		38		1		12.37
			104		32		0		11.45
M. Raison		• •	53		13		2		10.60
B. L. Wilder				• •	22		ñ		10.00
E. P. Troughton	8		80			• •	Ÿ	• •	9.57
A. G. Jacobs			67		21*			• •	
A. G. Dyer			75	• •	21		0	••	8.33
			Signifies	not	out				

## FOREST SCHOOL BOWLING.

		Overs		Maidens		Runs		Wicket	8	Average
A.	G. Dyer			6		157		14		11.21
	P. Waugh			28		293		26		11.26
	P. Troughton			4		54		4		13.50
E.	S. Mather	28	• •	5		83		6		13.83
			• •	7		150		10		15.00
			• •	36	- : :	828		18		18.22
A.	M. Taylor	131.2		90		O LO	• •			

## HAILEYBURY COLLEGE BATTING.

1	nning	ŗs	Runs		lost in an innings	n	Times ot out		Average 51.80
W. J. Malden	7		259		107*		2	• •	
J. V. Hughes-Hallett	10		250		147		1		27.77
A. T. Robinson	4		60		30		1		20.00
	8		138		57		1		19.71
W. R. I. Sporks	٥	• •	36		30*		3		18.00
E. N. Miles	- 5		155		52		1		17.22
E. J. Dibdin	10	• •				• •	î		15.20
F. J. Seabrook	6		76		40	• •		• •	9.33
L. S. P. Maurice	6		59		25		0	• •	
J. H. Fletcher	5		45		10		0		9.00
D. S. Hamilton	8		62		23		1		8.85
		• •	28		18		1		7.00
M. H. B. Goldman .	5		20	• •	20				
		* 1	Signifies	not	out.				

## HAILEYBURY COLLEGE BOWLING.

	Overs		Maidens		Runs	 Wicke	8	Average
M. H. B. Goldman	182		57		435	 33		13.18
D. S. Hamilton	20.3		4		72	 4		18.00
F. J. Seabrook			4		136	 7		19.42
L. S. P. Maurice			21		198	 10		19.80
		••	43		345	 11		31.36
E. N. Miles	98	• •	7	•••	134	 4		33.50

### HARROW SCHOOL BATTING.

				1	Most in an		Times		
	Inning	28	Runs		innings		not out		Average
G. M. Butler	9		216		104		1		27.00
H. G. Patterson	9		212		53		0		23.55
C. G. L. Hodgson	7		67		23		4		22.33
E. O. Bleackley	8		146		42		0		18.25
L. G. Whistler	3		33		25		1		16.50
A. H. M. Jackson	2		33		24		0		16.50
L. K. H. Gregson	8		84		27		1		12.00
N. A. Jessopp	8		86		34		0		10.75
H. S. Stevenson-More	7		65		22		1		10.83
H. G. P. Woodroffe.	6		47		13		1		9.40
V. J. Hogarth	5		31		16		0		6.20
R. Peel	3		18		17		0		6.00
J. T. Frerichs	2		7		4	• •	2	• •	-

## HARROW SCHOOL BOWLING.

	Overs	Maidens	Runs	Wicket	8	Average
N. A. Jessop		 31	 265	 32		8.28
L. K. H. Gregson .	89	 23	 279	 21		13.28
H. G. P. Woodroffe.		 2	 32	 2		16.00
C. G. L. Hodgson	13	 4	 36	 2		18.00
R Peel	16	 2	 63	 3		21.00
A. H. M. Jackson	2	 0	 8	 0		-

## HURSTPIERPOINT COLLEGE BATTING.

	Inning	zs.	Runs		Most in an innings	Times not out	Average
Wolstencroft	11		370		66	 1	 37.00
Edlin	11		145		60*	 2	 16.11
Woodhams	10		136		66	 0	 13.60
Kup			110		29	 0	 12.22
Evans			73		26	 0	 12.16
Gault	7		44		12*	 3	 11.00
Dickinson	10		91		33*	 1	 10.11
Ward			72		41	 0	 10.28
Cartridge	9	4.2	63		16	 0	 7.00
Harris	9		55		23*	 1	 6.87
Stranach	10		59		15	 1	 6.55
Hutton	9		57		15		 6.33
Bannister			10		4*	 9	 2.50
		* 5	Signifles	not	out.		

## HURSTPIERPOINT COLLEGE BOWLING.

	Overs	Maidens	Runs	Wicket	8	Average
Bannister	55	 13	 163	 19		8.57
Gault	195	 27	 275	 22		12.50
Woodhams	122	 19	 440	 32		13.75
Stranach	64	 9	 232	 17		13.64
Dickinson	30	 2	 135	 9		15.00

## LANCING COLLEGE BATTING.

LAL	OTT	10	COLL					
	Inning	ZS.	Runs	1	Most in ar innings	ii.	Times not out	Average 36.75
F. R. F. Scott	11		294		88		9	 35.90
			395		109		U	
R. E. C. Goff	11			• •	92*			 34.25
H. N. Thomas	10		274				~	 31.55
			284		83		Z	
I. M. Cross	11				60		0	 25.11
E. H. Savory	9		226					20.50 -
			123		50		2	
R. S. Thompson				• •	110*		2	 18.28
L. G. Stern	9		128					13.00
			52		13*		0	
R. E. Walker					20		1	 12.00
J. N. C. Ford	5		48					9.16
of C D Marchett	7		55	1000	22*		1	 0.10
M. C. P. Tuckett								
		*	Signifies	not	out.			

## LANCING COLLEGE BOWLING.

DAN	OTTI		0022		100	100			4
	Over	g	Maidens		Runs	1	Wicket		Average 12.60
M. C. P. Tuckett	241.4		62		605	• •	48	• •	22.12
J. N. C. Ford	59				177 418		16	::	26.12
F. R. F. Scott	130		26	• •	216		8		27.00
I. M. Cross	67			• •	140	• • • • • • • • • • • • • • • • • • • •	5		28.00
R. E. Walker	46	• •	. 11	• •					

# LORETTO SCHOOL BATTING.

6000	nning	a	Runs		lost in an innings		rimes.		Average 25.18
		,~	277		90		2		
J. M. Garrett	13				33		2		15.28
H. G. M'Lean	9		107				ō		9.00
	13		117		28	• •	ŏ		8.50
			68		18		0		
I. R. Grant	8		110		18		0		8.46
T. G. Rennie	13						0		8.07
D. G. Cochran	13		105		25	• •	5		6.00
	11		36		17				
R. W. Berry			47		19*		4		5.88
J. L. Wingate	12		*1		33		0		5.70
T D. Smith	10		57			• •	1		5.63
T D. Shiltin	12		62		21			• •	0.00
C. M. Calder	14		-						1 1 3 3 3 4 4
J. H. Sinclair-	100000		nm.		24		1		4.11
Thomson	10		37			• •	_		
2.502.2003.			Signifies	not	out.				

# LORETTO SCHOOL BOWLING.

TOTALL	_		- Carrier Co.		440400 000 0		1 AVENUES A SUPPLICATION AND
Overs		Maidens		Runs	Wicket 11		Average 3.90
		6		43	 11		
J. L. Wingate 24.2 .				316	38		8.31
140 8		42		310	 00		
J. M. Garrett 149.6 .	•						
J. H. Sinclair-					10		9.00
		10		162	 18		
Thomson 62 .	• •			101	.13		13.92
		9		181		• •	
				152	 11		13.81
		15					16.55
I. It. Glade		36		298	 18		
R. W. Berry 123.3 .		90			1		32 00
		1		32		• •	17m 00
T. D. Smith 10		-		R	0		
		0		U	 •		

## MARLBOROUGH COLLEGE BATTING.

	gs	Runs		innings	n	ot out	,	Average	
8		402		146		0		50.25	
	1 2 5			129		0			
7				63		2		42.80	
0						0		41.50	
0						0	- 35° Y	34.42	
7						4	111		
6						1			
8						1			
6		123				1			
2		12				1			
3		19		17		1			
4		21		15		0		5.25	
	8	8 7 8 7 6 8	8 379 7 214 8 332 7 241 6 65 8 227 6 123 2 12 3 19 4 21	8 379 7 214 8 332 7 241 6 65 8 227 6 123 2 12 3 19 4 21	8 379 129 7 214 63 8 332 143 7 241 66 6 65 28* 8 227 70* 6 123 89* 2 12 12 3 19 17 4 21 15	8 379 129 7 1214 63 8 332 143 7 241 66 28* 8 227 70* 6 123 89* 2 12 12 12 12 12 14 21 15	8     379     129     0       7     214     63     2       8     332     143     0       7     241     66     0       6     65     28*     4       8     227     70*     1       6     123     89*     1       2     12     12     1       3     19     17     1       4     21     15     0	8        379        129        0          7        214        63        2          8        332        143        0          7        241        66 <t< td=""><td>8</td></t<>	8

\* Signifies not out.

## MARLBOROUGH COLLEGE BOWLING.

	Overs	Maidens		Runs		Wickets	5	Average
R. G. B. Farrer E. K. M. Paul J. N. Gresham	45.2 . 66.5 .	. 10	::	169 280 377		9 12 15	••	18.77 23.33 25.13
J. Elmhirst L. A. Ashfield	95.3 .			423 118	•	15 4		28.20 29.50

## MERCHANT TAYLORS' SCHOOL BATTING.

Innings Runs			Most in an innings			Times not out	Average	
11 11 11 12 10 11	::	221 189 145 139 108 110		80 46 36* 29 55 49				22.10 18.90 14.50 13.90 13.50 11.00 10.44
	11 11 11 12 10	11 11 11 12 10	11 221 11 189 11 145 12 139 10 108 11 110	Innings         Runs           11            11            11            12            139            10            11            11	Innings         Runs         innings           11	Innings         Runs         innings           11         221         80            11         180         46            11         145         36*            12         139         29            10         108         55            11         110         49	Innings         Runs         innings         not out           11         221         80         1           11         180         46         1           11         145         36*         1           12         139         29         2           10         108         55         2           11         110         49         1	Innings         Runs         innings         not out           11          221         .80            11          189             11          145             12          139             10          155             11          110

\* Signifles not out.

## MERCHANT TAYLORS' SCHOOL BOWLING.

	Overs	Maiden	IS	Runs	,	Wicket	s	Average
R. H. V. Chester G. R. F. Bryant N. H. Saint H. L. Greer	111.1 87.2	25 32 20 24		484 254 247 130	::	51 21 17 8	::	9.49 12.09 14.52 16.25

## MILL HILL SCHOOL BATTING.

	Inning	8	Runs		ost in an innings	Times ot out	Average
P. A. Batty	8		186		43*	 1 .	. 26.57
P. E. Booth			51		19	 2 .	. 17.00
J. G. Anton	_		97		49*	 1 .	. 16.16
M. L. Larman	-		82		38	 0.	. 11.71
G. F. Murphy			54		48*	 1 .	. 10.80
F. B. Sagar			55		34	 0.	. 9.50
H. S. Sly	6		34		11	 2 .	. 8.50
J. Altham			17		9	 0 .	. 8.50
E. McLennan			31		14	 0 .	6.20
G. S. Lamont			23		12	 1.	4.60
		* S	ignifies	not c	out.		

## MILL HILL SCHOOL BOWLING.

		Overs		Maidens		Runs	Wicket	Average	
E.	McLennan	. 22		1		81	 11		7.36
	8. Sly					236	 19	• •	12.42
	S. Lamont			1	• •	93	 10		15.50 17.38
Ρ.	A. Batty	90		14		313	 10		17.00

## RADLEY COLLEGE BATTING.

	Innings	Runs	U c	Most in an innings	Times not out	Average
W. R. C. ffoulkes	. 8	 185		50*	 1	 26.42
B. R. Hannen		 149		38	 0	 18.62
L. G. Hannen	1	 124		61		 17.71
R. J. Moreton		 133		49	 0	 16.62
A. B. Baker		109		27*	 1	 15.55
E. D. H. Davies		 74		24	 0	 12.33
V. P. Vickerman		 48		13		 12.00
C. H. S. Bubb		 59		17	 0	 8.42
D. B. Cancellor		 30		11		 6.00

<sup>\*</sup> Signifies not out.

## RADLEY COLLEGE BOWLING.

		Overs		Maidens		Runs	Wickets			Average
L. G	Hannen	. 94.4		16	٠	243		26		9.34
D. I	B. Cancellor	. 53.1		6		197		15		13.13
	I. S. Bubb			12		303	• •	20	• •	15.15 36.66
	R. Baker			9	• •	220	• •	0		38.66
1. 0	d. Garratt	. 34		4		116		J		00.00

### REPTON SCHOOL BATTING.

	Innin	<b>78</b>	Runs	1	Most in an innings	Times not out	Average
P. S. S. Bower	. 8	4	350		121	 2	 58.33
H. M. Morris		34	398		143	 0	 49.75
A. J. C. Hirst	. 8		346		136		 43.25
R. L. Holdsworth	. 8		251		74	 2	 41.83
A. J. Holmes			158		64*	 3	 31.60
W. D. Gairdner			228		133	 0	 28.50
R. H. Nevill			66		42*	 1	 13.20
B. E. Abrahall	. 3		10		5	 2	 10.00
A. C. Kenrich			27		13	 1	 9.00
W. W. Maclean	. 2		10		10	 0	 5.00
B. O. Byass	4		7		3*	 1	 2.33
		* 5	Rignifles	not	out.		

### CENOR TOO HON PY

## REPTON SCHOOL BOWLING.

			Overs	Maidens	Runs	Wicket	8	Average
		Nevill		 18	 85	 10		8.50
		Abrahall		 19	 160	 16		10.00
		Morris		 9	 179	 13		13.76
		S. Bower		 17	 281	 17		16.52
В,	0.	Byass	74	 17	 233	 8		29.12

## RUGBY SCHOOL BATTING.

	Inning	<b>3</b> 8	Runs	fost in an innings	Times not out			Average
F. R. Kittermaster	11		338	 110*		4		48.28
C. D. McCarthy	12		473	 111		0		39.41
W. L. H. Pattisson	8		254	 96		1		36.28
G. A. Rotherham	12		310	 79		2		31.00
M. D. Lyon	11		296	 77		1		29.60
C. A. Sawyer			247	 62		0		22.45
R. F. Wright	7		129	 94		0		18.42
J. D. Cave			99	 36*		3		16.50
J. C. F. Simpson			112	 46*		2		16.00
P. St. B. Sydenham			23	 11*		2		3.83
E. J. D'O. Inglis	9		27	 11*		1		3.37

<sup>\*</sup> Signifies not out.

## RUGBY SCHOOL BOWLING.

	Overs	Maidens	Runs	 Wicket	9	Average
E. J. D'O. Inglis	208.1	 19	 681	 47		14.48
P. St. B. Sydenham.	147	 31	 450	 25		18.00
G. A. Rotherham		 23	 501	 27		18.55
C. D. McCarthy	24.1	 6	 96	 4		24.00
R. F. Wrigh	54.5	 6	 229	 8		28.62

## Public School Averages.

## ST. ALBAN'S SCHOOL BATTING.

	Inning	Innings Runs			Most in an innings		Times not out	Average	
E. R. Page	9		181		55		1		22.62
H. S. Prowse		1	113		58				14.12
L. T. Stone			75		29		1		10.71
R. Allwood	. 9		56		27	٠,	1		7.00
A. Dean			39		16		0		6.50
K. B. Griggs	. 9	• •	53	• •	13	••	0	••	5.88

## ST. ALBAN'S SCHOOL BOWLING.

	Overs	Maidens			Runs	Wickets			Average	
G. Gartside R. Allwood K. B. Griggs	. 63.5		15	::	156 178 145	::	28 29 18	::	5.57 6.17 8.05	

## ST. PAUL'S SCHOOL BATTING.

	Inning	gs	Average					
H. C. Soloman	8		239		57	 0		29.87
A. D. Whitehorn	9		208		66	 1		26.00
C. H. Pearson	9		227		108	 0		25.22
L. H. C. Rutter	9		218		78	 0		24.22
B. G. W. Atkinson	6		113		35*	 1		22.60
C. F. Sharp	9		201		61	 0		22.33
N. S. M. Atkinson .	9		153		50*	 1		19.12
B. T. Guy	6		69		23*	 1		13.80
L N. Jackson	7		39		17*	 2		7.80
D B. Martin			48		16	 1		6.85
H. J. Cockman			15		8	 2		3.75
		*	Signifies .	not.	out			

## ST. PAUL'S SCHOOL BOWLING.

	Overs	Maidens		Runs		Wickets			Average	
H. C. Soloman	. 101.4		14		262		23		11.39	
N. S. M. Atkinson	. 158.4		22		428		33		12.96	
C. F. Sharp	. 121		16		332		18		18.44	
A. D. Whitehorn	. 76		14		235		11		21.36	
B. G. W. Atkinson	. 38		7		136		4		34,00	

## SEDBERGH SCHOOL BATTING.

	Inning	gs	Runs		fost in ar innings	1	Times not out	Average
A. R. Gilliat	. 3		59		30		1	 29.50
R. L. Roe	. 5		139		49		0	 27.80
T. S. Bulman	. 4		107		73		0	 26.75
F. V. Kidson	. 5		85		59*		1	 21.25
E. H. Wilson	. 4		67		48			 16.75
W. W. Wakefield .	. 5		46		15			 11.50
G. Sherriff	. 5		33		12		0	 6.60
J. J. Thirsk	. 4		26		13		0	 6.50
		* 9	ignifies	not	ont.			

## SEDBERGH SCHOOL BOWLING.

	Overs	Maidens		Runs	Wickets			Average
G. Sherriff		 40		84		14		6.00
J. J. Thirsk		 -		61		10	• •	6.10
R. L. Roe		 _		122		10		12.20
F. V. Kidson	40	 		108		8		13.50

## SHERBORNE SCHOOL BATTING.

DSO.	Inning	gs	Runs		fost in a innings	Times not out	Average
J. D. Wyatt-Smith	14		575		122*	 4	 57.50
A. T. Grimley	5		117		44*	 3	 58.50
R. R. Fox	6		100		32	 2	 25.00
R. M. S. Pasley	10		194		42	 1	 21.55
B. C. Windle	9		186		44	 0	 20.66
E. J. Wheeler	12		194		38	 2	 19.40
T. A. R. Scott	9		115		32	 2	 16.47
R. B. Wyatt-Smith	8		43		12*	 3	 8.60
R. F. W. Leonard .	8		62		13	 0	 7.75
H. R. Oldnall	6		45		16	 0	 7.50
R. M. H. Simonds .	6		26		8	 1	 5.20
S. E. Dreschfeld	9		39		19	 1	 4.87
E. L. W. Fox	7		19		5	 2	 3.80
		* 8	ionifles	not (	out.		

### SHERBORNE SCHOOL BOWLING.

	Overs		Maidens	Runs	M	ickets	1	Average
J. D. Wyatt-Smith	60		13	 136		19		7.15
B. C. Windle	64		15	 150		11		13.63
T. A. R. Scott	104		34	 195		11		17.72
E. J. Wheeler	91		8	 381		20		19.05
R. M. S. Pasley	43		4	 175		7		25.00
E. L. W. Fox	105	٠.	18	 322		12		26.83

### Public School Averages.

## SHREWSBURY SCHOOL BATTING.

	Inning		Runs	4	Most in an innings		Times not out	Average
H. P. Ward		٠	282		101		2	 47.00
R. Smith			107		52		3	 35.66
L. B. Blaxland	7		223		92		0	 81.85
C. Schwind			189		72*	٠.	1	 31.50
L. W. T. Wethered	3		52		43*		1	 26.00
P. Miles	7		129		54*		2	 25.80
H. Pritchard	. 8		129		52*		2	 21.50
J. J. M. Veitch	7		104		50		. 2	 20.80
C. R. Harman	6		108		58		. 0	 18.00
A. M. Gamble	4		40		30*		. 1	 13.33
B. Palitana	7		58		36		. 0	 8.28
		*	Signifles	not	out.			

### SHREWSBURY SCHOOL BOWLING.

	Overs	Maidens	Runs	,	Wicket	8	Average
L. B. Blaxland	55	 7	 180		15		12.00
J. J. M. Veitch	79	 8	 240		19		12.63
P. Miles	92.1	 12	 336		24		14.00
H. Pritchard		 10	 165		10		16.50
R. Smith		 3	 189		10		18.90

### TONBRIDGE SCHOOL BATTING.

				M	ost in an		<b>limes</b>	
1	nning	3	Runs	i	nnings	n	ot out	Average
L. P. Hedges	14		415		72		2	 34.58
P. H. Fitzgerald	13		376		90*		2	 34 18
C. H. Evans	13		356		84		0	 27.38
E. P. W. Lewis	11		194		60*		3	 24.25
A. L. Garratt	14		221		31		0	 15.78
J. H. Welldon	10		133		64		1	 14.77
F. W. Bennett	10		137		41		0	 13.70
G. D. Hale	12		104		43		2	 10.40
A. H. Musson	11		62		12*		4	 8.85
R. C. Culhane	9		73		24		0	 8.11
J. L. Lotinga	4		18		11		1	 6.00
		* S	ignifies 1	not o	ut.			

## TONBRIDGE SCHOOL BOWLING.

	Overs	Maidens	Runs	7	Wicket	8	Average
A. L. Garratt	25	 3	 70		6		11.66
P. H. Fitzgerald .		 3	 389		24		16.20
J. H. Welldon		 24	 311		17		18.29
G. D. Hale		 23	 270		11		24.54
A. H. Musson		 32	 502		20		25.10
J. L. Lotinga		 9	 189		7		27.00
E P W Lewis		 7	 233		5		46.60

## UPPINGHAM SCHOOL BATTING.

	Inning	8	Runs	1	Most in an innings	Times not out	Average
F. A. Waldock	9		347		121	 1	 43.37
A. P. F. Chapman			257		116	 0	 32.12
R. P. Bell			141		49*	 1	 20.14
S. R. Gresham			114		95	 0	 19.00
A. W. C. Craigmile .		-11	103	V8 4	31	 1	 17.16
G. L. Chambers		-::	49	12	30	 1	16.33
I. Christopherson			130		52	 0	 14.44
N. T. Bryan			69		31	3	 13.80
W. L. Nummo			81		25	 1	13.50
H. F. Waldock		• • • • • • • • • • • • • • • • • • • •	54		40	 ō	10.80
D. F. Van Millingen	5		11		5*	 3	 5.50
		* 9	imifica	not	out		

## UPPINGHAM SCHOOL BOWLING.

	Overs	Maidens	Runs	Wicket	ts	Average
F. A. Waldock	103.3	 36	 262	 37		7.08
S. R. Gresham	85.5	 29	 162	 18		9.00
R. P. Bell		 22	 218	 22		9.90
D. F. Van Millingen	59.5	 2	 202	 15		13.46
G. L. Chambers		 3	 15	 1		15.00
H. F. Waldock	3	 0	15	 1		15.00
W. L. Nummo		 7	 79	 4	0.00	19.75
A. P. F. Chapman .	3	 1	 29	 0		

## WELLINGBOROUGH SCHOOL BATTING.

The second second	nning	ZR	Runs	1	Most in an innings	Times not out	Average
J. T. Badham	10		300		50*	 2	 37.50
R. H. Humphery	11		309		78	 0	 28.09
C. S. Colman	11		280		104*	 1	 28.00
R. Childs	6		169		75	 1	 33.80
J. H. Dickinson	11		118		28*	 2	 13.11
L. C. Knight	8		102		33*	 3	 20.40
H. K. Kefford	9		89		29	 1	 11.12
O. E. Johnson	10		79		32	 0	 7.90
W. W. S. Gibbard .	7		60		19	 3	 15.00
T. D. E. Pendered	5		60		30		 15.00
R. Robinson	3		16		16*		 8,00
P. W. J. Fryer	2		2		2*	 1	 2.00
		*	Signifies	not	out.		

## WELLINGBOROUGH SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets	3	Average
J. T. Badham	168.5	 23	 515	 40		12.87
C. S. Colman	52.8	 1	 229	 19		12.05
R. Robinson		 11	 303	 15		20.20
R. Childs		 17	 527	 16		32.93
P. W. J. Fryer		 -	 122	 10		12.20
H. K. Kefford			 51	 3		17.00

## WELLINGTON COLLEGE BATTING.

					ost in an		Times	1. • 10-1 (10-1) (10-1)
I	nning	rs .	Runs	i	nnings	n	ot out	Average
N. C. Dobbs	13		426		_		2	
T. G. Wallis	12		238		-		4	
J. F. Collins	13		285		-		3	
H. Birkmyre	13		311		-		1	25.91
E. I. C. Jacob	12		269				2	26.90
J. A. E. Hirst	13		241				2	21.90
J. N Whitworth	11		176				0	16.00
P. A. A. Clery	8		123		-		0	15.37
W. M. Goodenough	9		89				3 .	14.83
A. M. L. Crofton	9		103		_		2	14.71
R. G. Lees	7		17				3 .	4.25

## WELLINGTON COLLEGE BOWLING.

	Overs	Maidens	Runs	 Wicke	ts	Average
J. F. Collins	_	 	 274	 22		12.45
P. A. A. Clery		 	 115	 9		12.77
R. G. Lees		 	 246	 13		18.92
W. M. Goodenough		 	 331	 15		22.06
T. G. Wallis		 	 405	 17		23.82
A. M. L. Crofton		 	 57	 2		28.50
J. N. Whitworth		 	 308	 9		34.22
E. I. C. Jacob		 	 141	 2		70.50

## WESTMINSTER SCHOOL BATTING.

	Inning	8	Runs		ost in an nnings	Cimes ot out	Average
N. P. Andrews			316		71	 1	 26.33
F. R. Oliver			244		80	 2	 22.18
G. G. F. Greig	13		260		72	 0	 20.00
V Croome	6		97		40	 1	 19.40
H. J. Salwey			215		56	 0	 17.91
T. M. Ker	10		179	1	43	 0	 17.90
M. G. Farguharson .			212		63	 0	 16.30
G. P. Pakenham-							
Walsh	. 13		169		48	 2	 15.36
W. E. Gerrish	10		51		19*	 4	 8.50
C. E. Stones			81		36	 0	 7.36
H. W. Watkins			22		9	 1	 3.66
111 111 1111111111111111111111111111111		* 5	ignifies	not c	ut.		

## WESTMINSTER SCHOOL BOWLING.

	Overs	Maidens	Runs	,	Wicket	8	Average
F R. Oliver		 19	 859		43		19.97
C. E. Stones		 11	 390		16		24.37
G. G. F. Greig		 19	 587		22		26.68
H. W. Watkins		 3	 252		9		28.00
G. P. Pakenham-							
Walsh	37	 3	 177		6		29.50
N. P. Andrews	. 9	 0	 71		2	• •	35.50

### WINCHESTER COLLEGE BATTING.

	Inning	28	Runs		Most in an innings	Times not out	Average
H Ashton	10		414		89*	 2	 51.75
A. A. Bankier	11		417		115	 0	 37.90
G. D. Huband	6		133		43		 33.25
L. W. Greenwood			235		56		 29.37
C. W. Bentty	6		116		81		 19.33
R. C. G. Joy	5		78		52	 0	 15.60
J. S. Johnston	11		108		28*	 3	 13.50
H. F. Bingham	9		66		30*	 2	 9.42
C. P. Brutton			74		25*	 2	 9.25
C. E. Prest			57		24	 •	 8.14
J. C. Clay			50		15	 0	 7.14
			Signifies	not	out.		

## WINCHESTER COLLEGE BOWLING.

	Overs	Maidens	Runs	Wicket	8	Average
G. D. Huband	174.3	 54	 302	 36		8.38
J. C. Clay	154.4	 25	 410	 40		10.25
H. F. Bingham	86	 21	 174	 14		12.42
J. d'E. E. Firth	27	 2	 61	 6	1	10.16
H. Ashton	10.4	 2	 39	 8		13.CO